托福阅读讲义
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一、托福阅读的基本特征
（一）托福考试阅读部分的结构：1. 篇章数：3+1；2. 700字左右 / 篇;

（二）托福阅读文章分类：1. 解释说明型文章  2. 立论型文章  3. 历史题材型文章

（三）题目特点：
1. 题目数量：12-14 / 篇，填表和总结题标为13-14
2. 十种题型：
① 词汇题                    ② 事实信息题

③ 否定事实信息题            ④ 推断题

⑤ 句子简化题                ⑥ 修辞目的题

⑦ 指代题                    ⑧ 插入题

⑨ 总结题                    ⑩ 填表题

（四）托福算分方法：根据Raw Score排Rank（percentile）

（五）考试时间划分：纯考试时间：200’～250’

阅读60’ (80’)+听力60’(90’)+休息10’+口语20’+写作50’
（六）加试：（1）两种：阅读/听力；ETS说有口语，不可能；（2）遇到的4种情况：1.无;2.听;3.阅;4.双   (3)算分：1.不算(ETS);2.不做(幻觉；3. 5选3 （4）作用
课程框架：
             词汇能力：词汇量+逻辑猜词能力（词汇题）             
                                               句内逻辑

                               读句子能力      长难句（句子简化）  
阅读能力                                      句子含义
（事实信息，否定事实信息，推断）
托福逻辑思维能力
                                                  句与句间
                                                 （修辞目的，指代，插入）

文章结构和脉络                
                                                  段与段间（总结，填表）
二、词汇能力
（一）阅读词汇量：6000-8000-10000，
（二）推荐书目：（1）张洪伟，戴云《TOEFL-ibt词汇10000》基础词到难词都有（2）针对阅读李笑来《托福核心词汇21天突破》2200；熟词僻意，常考词/组，分类词，词根词缀；美国传统词典10中取常考。（3）蒋铮《英语词汇的奥秘》（4）俞敏洪《托福词汇 词根+联想》（5）张红岩《托福词以类记》                                                                     
（三）背单词方法： 

背单词的三个方法
1. 读文章并背单词。2年以上复习时间。弊端：300/天，起初打击大，后期量少。
    2. 杨鹏17天搞定GRE单词方法。小软件规划 2个月复习，杨鹏单个list划分很好
3. 把书从头到尾翻着看。周一到六往前走，周日复习。一直循环下去，直到考试为止
（四）词汇题特征：1. The word X in the passage is closest in meaning to …

                   2. In stating X, the author means that …

（五）解题方法：

1. 认识直接找同义词
2. 词根词缀线索：后缀：词性       词根： 本义          前缀：  意思变化方式            
3. 同义重复线索：

                       修饰成分相同：adj1=adj2

                       动作特征相同：v1=v2

       同一名词        修饰成分与动作特征相互体现：adj=v

                       所有物的特征相同：n1=n2

4. 对比线索：转折或否定单独出现，逻辑相反

5. 标点符号线索：“—” “：” “；” “（）”
6. 总分线索：举例子/展开描述
9. 指代线索
7. 感情色彩线索：褒义/贬义

8. 常用语线索

1. 认识直接找同义词
例题1： Indeed, for Whigs the concept of government promoting the general welfare went beyond the economy. 
The word concept in the passage is closest in meaning to
power
reality
difficulty
idea
2. 词根词缀线索：
例题2： In the 1960s, improvements in the aircraft technology and the development of commercial jet airlines enabled fast international travel. The tourism industry exploded. 

  The word exploded in the passage is closest in meaning to
     was competitive
      expanded rapidly
      was expensive
      became dangerous
例题3：The employees who are responsible for preparing the report must have a clear understanding of how the report will be used before they compile it.
 The word compile in the passage is closest in meaning to
      agree with
      put together
      ask about
      look forward to
例题4：At first thought it seems incredible that there can be enough space in the “solid” ground underfoot to hold all this water. 

The word “incredible” in the passage is closest in meaning to
confusing

comforting

unbelievable

interesting 

例题5: The increase in pressure from this contraction caused the temperature to rise until the cloudlets began to glow as individual luminous star.
The word luminous is closest in meaning to
    light-emitting
    densely packed
    high-preasure
    very beautiful
3. 同义重复线索：

                       修饰成分相同：adj1=adj2

                       动作特征相同：v1=v2

       同一名词        修饰成分与动作特征相互体现：adj=v

                       所有物的特征相同：n1=n2

例题6：Turbulent waters tore into the hardened salt flats, broke them up, and ground them into the pebbles observed in the first sample taken by the Challenger. 

The word Turbulent in the passage is closest in meaning to

fresh

deep

violent

temperate

例题7：The most widely accepted theory, championed by anthropologists in the late nineteenth and early twentieth century, envisions theater as emerging out of myth and ritual.

 The word championed is closest in meaning to
      changed
      debated
      created
      supported
例题8：Even today, microscopic meteorites continually bombard Earth, falling on both land and sea.

The word bombard in the passage is closest in meaning to

approach

strike

pass

circle
例题9：The exact role of other factors is much more difficult to pinpoint―for instance, Teotihuacán’s religious significance as a shrine, the historical situation in and around the Valley of Mexico toward the end of the first millennium B.C., the ingenuity and foresightedness of Teotihuacán’s elite, and, finally, the impact of natural disasters, such as the volcanic eruptions of the late first millennium B.C.

The word ingenuity in the passage is closest in meaning to

ambition

sincerity

faith

cleverness

4. 比较/对比线索：比较：方面相同但程度不同；转折或否定：逻辑相反。
例题10：The larger, less fastidious feeders, the zebras, move in first; the choosier, smaller wildebeests come later; and the smallest species of all, Thomson’s gazelle, arrives last.
The word fastidious in the passage is closest in meaning to

rapid

determined

flexible

demanding

例题11：Many scholars suspect that musical and linguistic expression had common origins but then split off from one another several hundred thousand years ago.
The phrase split off in this passage is closest in meaning to
      separated
      borrowed
      evolved
      learned
例题12：Groups work best when they consist of people who have similar duties, responsibilities, and missions. This does not mean, however, that everyone in the group must think in lockstep.
The phrase in lockstep is closest in meaning to 
      alike
      critically
      aloud
      quickly
例题13：The rain seep underground and the water may reappear later as spring.
 The word seep is closest in meaning to
      dries gradually
      flows slowly
      freezes quickly
      warms slightly

同义重复及比较对比综合
例题14：Hurston continued her fieldwork in the Caribbean but eventually followed her most cherished calling, that of fiction writer.
 The word calling is closest in meaning to
      profession
      example
      character
      description

5. 标点符号线索：“—” “：” “；” “（）”
例题15：Methods of applying color varied: some colors were brushed or smeared on rock surfaces and others were blown or sprayed.

The word Methods in the passage is closest in meaning to

ways 

shades 

process 

rules 

6. 总分线索：举例子/展开描述
例题16：Making an efficient icebox was not as easy as we might now suppose. In the early nineteenth century, the knowledge of the physics of heat, which was essential to a science of refrigeration, was rudimentary. 
 The word "rudimentary" is closest in meaning to
growing
undeveloped
necessary
uninteresting
例题17：The public school system suddenly found itself overtaxed. While the number of schoolchildren rose because of wartime and postwar conditions, these same conditions made the schools even less prepared to cope with the flood.
The word overtaxed is closest in meaning to which of following?
      well prepared
      plentifully supplied
      heavily burdened
      charged too much

9. 指代线索
例题18：According to some estimates, the majority of all extinctions of species may be due to such impacts. Such a perspective fundamentally changes our view of biological evolution. 
 The word perspective in this paragraph is closest in meaning to
      sense of value
      point of view 
      calculation
      complication
例题19：Sometimes, new recruits for a gang are “jumped in.” This is when the other gang members beat up the new recruit to test their dedication and loyalty.
In stating that new recruits for a gang are “jumped in,” the author means that they are
      hit by other members
      asked to build up their physical strength
      ordered to steal money
      forced to show their courage
7. 感情色彩线索：褒义/贬义

例题20：In 1815 he published the first modern geological map “A Map of the Strata of England and Wales with a Part of Scotland”,  map so meticulously researched that it can still be used today．
The word meticulously in the passage is closest in meaning to

carefully

quickly

frequently

obviously

例题21：They must gain an understanding of human nature, including its negative aspects, such as the sources of human conflict and pitfalls of power.
 The word pitfalls in the passage is closest in meaning to

      benefits
      stages
      causes
      hazards

8. 常用语线索

例题22：Similarly, a plant or animal cannot squander all its energy on growing a big body if none would be left over for reproduction, for this is the surest way to extinction.
The word squander in the passage is closest in meaning to

 extend 

transform 

  activate 

   waste 

词性活用
例题23：There are 3 billion codes in the human genome. All of these have been identified. But they still need to be sequenced.
The word be sequenced in the passage is closest in meaning to

      be taken apart
      be put in order
      be discovered
      be processed
熟词僻义
例题24：A drought is an abnormally long spell of dry weather. It is a time when there is not enough water to support farming, urban, or environmental needs.
The word spell in the passage is closest in meaning to
      charm
      zone
      signal
      period
	Tips：

1. 句子结构:(1)nvn (2)nv (3)vn

2. v+prep+n1+n2=v+n2+prep+n1

3. 平行结构,前后语法结构相同

4. What只引导名词性从句

5. V1, V2, … ,Vn:Vn为上层句子谓语动词
6. N1
[image: image1.wmf]¹

N2 (1)新句子主语; (2)谓语动词（3）N1修饰N2  bus stop
N1=N2 互相解释说明


三、读复杂句能力

1. 句子基本结构
1.   S+V                             
2.   S+V+P                          
3.   S+V+O                          
4.   S+V+o+O                       
5.   S+V+O+C                       
2. 主要词性成分包含内容

名词词性成分：                                                             

形容词性成分：                                                            
副词词性成分：                                                            
动词词性成分：                                                            
3. 从句
(1) 名词性从句（Noun Clause）：
引导词特例：   没有连接副词when，where                                
1　 主语从句：（Subjective Clause）
例1：How a speaker perceives the listener's receptiveness, interest, or sympathy in any given conversation can drastically alter the tone of presentation, by encouraging or discouraging the speaker. 

形式主语：that不省略，但口语中可以。
            that+ SVO       It is indubitable that Taiwan is an integral part of China.
It + V+ O    to+ VO          It is nice to meet you.
            Ving+ O         It is nice meeting you.
            V-ed+ O         It is terrible bitten by a dog.

例2：It is unclear when humans began to use home bases, what kind of communications and social relations were involved, and what the ecological and food-choice contexts of the shift were.

强调句：
句   型：It is（was）＋被强调的部分＋that（who）＋原句其它部分。
例句　It was on Monday night that all this happened． 

注意：被强调部分不能是谓语                                
区    别：形式主语：去掉it is that 句子不完整                                 

强调句：  去掉it is that（who），句子完整                           

根本原因：形式主语的谓语动词为is，不可去掉。强调句that（who）之后为主句，不缺失成分。                                                
例3：It is these cellulose-destroying enzymes that enable fungi to attack anything made from wood, wood pulp, cotton, flax, or other plant material.

2　 宾语从句：(Objective Clause)
时态:
	主句
	一般现在
	过去
	客观真理一般现在

	从句
	任意
	过去任意
	


例4：What is particularly meaningful to anthropologist is the realization that although the materials available to a society may to some extent limit or influence what it can do artistically, the materials by no means determine what is done. 

形式宾语：
I think it necessary to master every skill and detail teacher told you.
I feel it a pity that you have forgotten what I’ve just said.

例5：The agricultural revolution stimulated many in the countryside to seek a new life in the city and made it possible for fewer farmers to feed the large concentrations of people needed to provide a workforce for growing numbers of factories. 

(2) 形容词性从句 (Adjective Clause)
1）引导词特例：     绝对没有what                                          
2）That省略条件：  that 作从句的宾语时，可以省略                                      

例6：The terminology by which artists were described at the time suggests their status: "limner" was usually applied to the anonymous portrait painter up to the 1760's; "painter" characterized anyone who could paint a flat surface.

3）与同位语从句区别
同位语：用来解释和说明某些名词或代词。可由名词、代词、名词性短语或从句充当。
例7： The perspective that the day, Dec 21, 2012, will be the doomsday still needs more supports.  

例8：The achievements of the colonial artists lent credence to the boast that the new nation was capable of encouraging genius and that political liberty was congenial to the development of taste-a necessary step before art could assume an important role in the new republic.

 区  别：
同位语从句：   被解释名词在从句中补充当任何成分        
定语从句：     先行词在从句中作某一成分                
注意：阅读中无需区分同位语从句与定语从句
The news that they won the match is true. 

The news that you told us yesterday is true. 
例9：The most graphic proof that the grand spectacle of a comet develops from a relatively small and inconspicuous chunk of ice and dust was the close-up image that was obtained in 1986 by the European Giotto probe of the nucleus of Halley's Comet.

4）非限定性定语从句：<1>与主句用逗号隔开。<2>去掉对句子意思完整无影响
总结：限定性定语从句与非限定性定语从句的区别
	
	从句地位
	That引导
	引导词省略
	逗号
	修饰范围

	限定性
	不可删除
	可以
	That作宾语
	不需要
	先行词

	非限定性
	可删除
	不可以
	不可以
	需要
	句子或先行词


例10: Some of those slabs appear to have been painted as much as 28,000 years ago, which suggests that painting in Africa is as old as painting in Europe. 

(3) 状语从句 (Adverbial Clause)
状语从句的省略　　
当同时具备下列两个条件时，主语和Be动词可以省略
①  主句和从句的主语一致，或从句主语为it                                      

②  从句主要动词是be的某种形式                                               
例11: (1)When (the cinema is) completed, the cinema will attract many people. 
(2)He’ll come with us if (it is) possible.

例12：Although subject to fluctuations in their economic status, all three enjoyed sufficient patronage to allow them to maintain an image of themselves as professional artists, an image indicated by their custom of signing their paintings.

(4)分词作修饰成分
3　 现在分词：
1. 作定语：a dancing girl; a smiling face.
2. 作补语：感官动词/使役动词+N+Ving：see somebody doing something
3. 作表语：The game is exciting.
4. 作状语：Lying under the tree, Newton was hit by an apple.
                      = When he was lying under the tree, …

                      The old man died, leaving his wife plenty of money.
4　 过去分词：
5. 作定语：Changed environment，beloved friend
6. 作补语：感官动词/使役动词+N+Ved: get the work done, have my hair cut
7. 作表语：Most area of the earth is covered by sea.
8. 作状语：Constructed with material of low quality, the damn is torn by flood.
= Since the damn is constructed with material of low quality…

※ 分词作状语和分词作定语的区别：（判定逻辑主语）
　 ①分词作状语的位置：   句首或句尾+逗号，与主句隔开                    
分词作定语的位置： 1. 紧跟名词后；2.非句首，句中或句末有无逗号皆可。                                       
②分词作状语： 1. 在句首必为状语；2.在句末，应表：伴随、方式、目的、结果
分词作定语：  不表状语意思， 只表示先行词的属性或特征                                     
※  分词作状语：逻辑主语为主句主语；分词作定语，主语为先行词                   
例13：Tom, wearing a black T-shirt, and his father went in to teachers' office, leaving the door open.

例14: Fungi, of which there are over 100, 000 species, including yeasts and other single-celled organisms as well as the common molds and mushrooms, were formerly classified as members of the plant kingdom.

例15: The weight of a gibbon (a small ape) hanging below a branch arches the terminal leaves down so that fruit-bearing foliage drops toward the gibbon's face.

例16: Bright jets of gas from evaporating ice burst out on the side facing the Sun, where the surface gets heated up, carrying dust with them.

例17: On the other hand, fungi bring about the decomposition of dead organic matter, enriching the soil and returning carbon dioxide to the atmosphere.

例18: Both defense mechanisms, however, are triggered in reaction to intrusion, implying that the host has some means of recognizing the presence of a foreign organism.

例19:Moreover, in addition to its being a transportation pathway equipped with a mammoth physical plant of tracks signals, crossings, bridges, and junctions, plus telegraph and telephone lines the railroad nurtured factory complexes, coat piles, warehouses, and generating stations, forming along its right-of-way what has aptly been called "the metropolitan corridor" of the American landscape.

5　 独立主格：1.在句中作状语2.与主句主语不一致，有自己的主语                  
Her husband dying，the old woman got plenty of money.
                His work done，Tom has nothing to do.

(5) AS引导的从句
6　 AS引导让步状语从句

倒装： 倒装+as，加“尽管”二字                                                                   
1）提前表语: Child as he was, he could figure out what was right. 

2）提前动词原形: Try as he might, he failed in the exam. 

3）提前状语: Much as I like it, I can’t afford the laptop. 

7　 AS用作关系代词引导定语从句

1. as引导限制性定语从句：先行词一般被the same, such等词修饰时。

2. as引导非限制性定语从句： (1) SVO，AS ;     (2) SVP , AS                                           

例20: With the advent of projection, the viewer's relationship with the image was no longer private, as it had been with earlier peepshow devices such as the Kinetoscope and the Mutoscope.
3. Hyperbaton（倒装）

    倒装：  主谓倒置                                           

全部倒装：    全部谓语动词                   放在主语之前 

部分倒装：    助动词或be动词                放在主语之前
Here comes the bus.（全倒）
Never had I feel so strong.（半倒）
(1) 全部倒装
1 副词开头的句子里面，表示强调。代词做主语，主谓顺序不变。
1) there+ be 句型
2) here (there, now, then) + vi + 主语 （或out, in, up, down, away） 

例21：There goes the bell；Now comes your turn；Here you are；There you go.

2 当句首状语是表示地点的介词词组时
· From the house came a scream. 

· They arrived at a farmhouse, in front of which sat a husky.
例22: On what basis were the Southern states to be brought back into the Union? 

例23: Among the species of seabirds that use the windswept cliffs of the Atlantic coast of Canada in the summer to mate, lay eggs, and rear their young are common murres, Atlantic puffins, black-legged kittiwakes, and northern gannets. 

(2) 部分倒装：
1　 only; never, hardly, seldom, little, at no time, not only, rarely, not a bit
例24: Only in this way can you learn English well.  

      Never shall I do this again.

2　 no sooner than, hardly when 和 not until的句型中。
例25: No sooner had she gone out than the class began.　　
      Hardly had she gone out when the class began.
      Not until the teacher came did he finish his homework. 

3　 so / such …that 置于句首, 则句子部分倒装.

例26: It is so interesting a book that John has read it twice. 

      So interesting a book is it that John has read it twice. 
4　 as 引导的让步状语从句（见AS引导从句）。
5　 省略if 的虚拟条件句
例27: Rarely do the Amish marry outside their sect. 

例28: As the roles men and women played in society became more rigidly defined, so did the roles they played in the home. 

例29: Not until near the end of the nineteenth century did inventors achieve the delicate balance of insulation and circulation needed for an efficient icebox. 

例30: Variously known as buffalo grass, grama grass, or mesquite grass, not only were they immune to drought; but they were actually preserved by the lack of summer and autumn rains.

4. Subjunctive（虚拟语气）

1. if 条件从句。
     （1）与事实相符: If he doesn’t work hard, he will flunk in this exam.
     （2）与事实不符: If I were a boy, even just for a day…

      注意：If可以省略： Were I a boy, I’d drink beer with the guy.
2.条件从句和主句表示的时间不一致，退一步法则：
虚拟现在用过去，虚拟过去用过去完成，虚拟将来用过去将来时
5. Comparative（比较结构）

A plays piano better than ___。
　　    ① B (省略性)
　　    ② B does (对称性)
　　    ③ does B (倒装性)
例句： Surprisingly, Stephen William Hawking, a prominent physical scientist disabled to take care of himself, got much more achievements than had his predecessors achieved.
6. Parenthesis（插入语）

插入语：与句中其它部分没有语法上的联系，将它删掉之后，句子结构仍然完整。

插入语作用：                                                                 

常见插入语： 形容词（短语）： most important of all，available to us，
副  词（短语）： indeed，however，generally，maybe，
介 词  短  语： in fact，in a word，on the other hand，
V – ing 短  语： generally speaking，
不    定   式： to be honest
7. Compound Sentence（复合句结构）

SVO, HOWEVER/AND SVO
例句1：Nor does the hypothesis that infantile amnesia reflects repression- or holding back- of sexually charged episodes explain the phenomenon.

例句2：Wild life zoologist Hulmut Buechner(1953), in reviewing the nature of biotic changes in Washington through recorded time, Says that "since the early 1940s, the state has had more deer than at any other time in its history, the winter population fluctuating around approximately 320,000 deer (mule and black-tailed deer), which will yield about 65,000 of either sex and any age annually for an indefinite period."

推荐阅读材料：老托福阅读文章

四、托福逻辑思维能力
（一）逻辑的重要性：1. 逻辑是文章的骨架
                      2. 作者写逻辑，考生看逻辑： 

（二）托福阅读中常见逻辑：否定，并列，比较，转折，因果，条件
（三）常见逻辑功能词：
1. 否定
     明显： no, not, none, neither, never, deny                                     
     隐含： fail to, absence from, lack of, refuse to, little, few                         
     否定前缀： a-, ab-, anti-, counter-, de-, dis-, il-, im-, in-, ir-, mal-, mis-, non-, un-… 
     否定后缀： -less, free-, proof-                                                
2. 并列： and/or, like, likewise, equally, the same as, same/similar to, in the same way  
          both…and…, neither…nor… as well as, not only…but also…/vice versa        
3. 因果
     明显：because, since, for, as, due to, owing to, in that, so…that…, therefore, thus, 

hence.

     隐含：导致：in as much as, cause, lead to, stimulate, spur, spark, push, motive, 

prompt, be responsible to
由于：    derive from, result from, come from, originate from, initiate from
on account of, in view of, according to, rely on, depend on
4. 条件
     明显：    if, unless, as long as, in case that/of                                 
     隐含：    suppose/supposing that, providing/provided that, on condition that，

except when=unless    A is evident by B（条件）                      
5. 比较
     明显：  比较级，最高级+than                                               
     隐含：  最高意义：maximum, favorite, outstanding, top                                                                  
6. 转折
     明显：but, yet, however, though, although, even if, even though, while, whereas,  

nevertheless, despite, in spite of, instead, in contrast, contrast to          

on the contrary, different from, differ from, conversely                   

     隐含：     for all 倒装+as even+时间（even when）                           
     超隐含：   时间，空间，事物对比                                           
五、句子简化题：
简化题特征：1. 长阴影；2. 提问方式千篇一律

解题思想：
1. 逻辑关系正确：把握逻辑类型，检验逻辑连接对象，认清逻辑位置关系：
一级逻辑：                                   
二级逻辑：                                    

特殊逻辑：                                    
2. 极端词有对应且修饰关系正确                             
3. 不可混搭                                               
4. 不可推理                                               
5. 主干不可缺失                                           
6. 不可出现未表述新信息（原文背景内容除外）               
（一）解题步骤： 
1．有逻辑的句子简化题：

注意：1. 原文有因果等逻辑时，正确答案中会出现因果，或者表达因果含义的内容。   

       2. 转折包含比较，但比较程度不可改变；转折中，虽然为次要，但是为主要   
2. 没有明显逻辑的句子简化题：
注意：原文无因果，但含有A和B，A解释或作用于B，正确选项中仍可出现因果。
例题1：He refused to develop projection technology, reasoning that if he made and sold projectors, then exhibitors would purchase only one machine-a projector-from him instead of several.
Which of the sentences below best expresses the essential information in the highlighted sentence from the passage? Incorrect answer choices change the meaning in important ways or leave out essential information.
Edison was more interested in developing a variety of machines than in developing a technology based on only one. 

Edison refused to work on projection technology because he did not think exhibitors would replace their projectors with newer machines. 
Edison did not want to develop projection technology because it limited the number of machines he could sell.
Edison would not develop projection technology unless exhibitors agreed to purchase more than one projector from him. 
例题2：He then set up experiments with caged starlings and found that their orientation was. in fact, in the proper migratory direction except when the sky was overcast, at which times there was no clear direction to their restless movements. Kramer surmised, therefore, that they were orienting according to the position of the Sun. 
 Which of the sentences below best expresses the essential information in the highlighted sentence in the passage? 
Experiments revealed that caged starlings displayed a lack of directional sense and restless movements.
Experiments revealed that caged starlings were unable to orient themselves in the direction of their normal migratory route.

Experiments revealed that the restless movement of caged starlings had no clear direction.

  Experiments revealed that caged starlings' orientation was accurate unless the weather was overcast.

例题3：In order for the structure to achieve the size and strength necessary to meet its purpose, architecture employs methods of support that, because they are based on physical laws, have changed little since people first discovered them-even while building materials have changed dramatically. 
    Which of the sentences below best expresses the essential information in the highlighted sentence in the passage?

Unchanging physical laws have limited the size and strength of buildings that can be made with materials discovered long ago. 

Building materials have changed in order to increase architectural size and strength, but physical laws of structure have not changed. 
When people first started to build, the structural methods used to provide strength and size were inadequate because they were not based on physical laws. 

Unlike building materials, the methods of support used in architecture have not changed over time because they are based on physical laws.
例题4：Because the Underground Railroad was so secret, few records exist that would reveal the true number of people who traveled it to freedom.   
Which sentence below best expresses the essential information in the highlighted sentence in paragraph 1? 
The Underground Railroad kept secret records in which all of the passengers and trips were documented.
Few people understood why the Underground Railroad would not reveal how many people chose to travel in this way.
The Underground Railroad’s records were not accurate, so the true number of travelers is difficult to estimate.
We do not know exactly how many slaves escaped on the Underground Railroad because it was a secret organization.
例题5：Apprentices were considered part of the family, and masters were responsible not only for teaching their apprentices a trade but also for providing them some education and for supervising their moral behavior.
Which of the sentences below best expresses the essential information in the highlighted sentence in the passage?

Masters demanded moral behavior from apprentices but often treated them irresponsibly.

The responsibilities of the master to the apprentice went beyond the teaching of a trade.

Masters preferred to maintain the trade within the family by supervising and educating the younger family members.

Masters who trained members of their own family as apprentices demanded excellence from them. 
例题6：The whale retained a tail and lacked a fluke, the major means of locomotion in modern cetaceans. The structure of the backbone shows, however, that Ambulocetus swam like modern whales by moving the rear portion of its body up and down, even though a fluke was missing. 

Which of the sentences below best expresses the essential information in the highlighted sentence in the passage? 
Even though Ambulocetus swam by moving its body up and down, it did not have a backbone. 
The backbone of Ambulocetus, which allowed it to swim, provides evidence of its missing fluke. 

Although Ambulocetus had no fluke, its backbone structure shows that it swam like modern whales.

By moving the rear parts of their bodies up and down, modern whales swim in a different way from the way Ambulocetus swam.
例题7：One explanation for green icebergs attributes their color to an optical illusion when blue ice is illuminated by a near-horizon red Sun, but green icebergs stand out among white and blue icebergs under a great variety of light conditions. 

Which of the sentences below best expresses the essential information in the highlighted sentence in the passage? 

One explanation notes that green icebergs stand out among other icebergs under a great variety of light conditions, but this is attributed to an optical illusion.

One explanation for the color of green icebergs attributes their color to an optical illusion that occurs when the light from a near-horizon red Sun shines on a blue iceberg.

One explanation for green icebergs attributes their color to a great variety of light conditions, but green icebergs stand out best among other icebergs when illuminated by a near-horizon red Sun. 
One explanation attributes the color of green icebergs to an optical illusion under special light conditions, but green icebergs appear distinct from other icebergs under a great variety of light conditions.
例题8：If the pores are large, the water in them will exist as drops too heavy for surface tension to hold, and it will drain away; but if the pores are small enough, the water in them will exist as thin films, too light to overcome the force of surface tension holding them in place; then the water will be firmly held. 
Which of the sentences below best expresses the essential information in the highlighted sentence in the passage? 

Surface tension is not strong enough to retain drops of water in rocks with large pores but it strong enough to hold on to thin films of water in rocks with small pores.

Water in rocks is held in place by large pores and drains away from small size pores through surface tension.

Small pores and large pores both interact with surface tension to determine whether a rock will hold water as heavy drops or as a thin film.

If the force of surface tension is too weak to hold water in place as heavy drops, the water will continue to be held firmly in place as a thin film when large pores exist.

例题9: Another condition that contributes to the development of autonomous theater is the emergence of the aesthetic sense. For example, some early societies ceased to consider certain rites essential to their well-being and abandoned them, nevertheless, they retained as parts of their oral tradition the myths that had grown up around the rites and admired them for their artistic qualities rather than for their religious usefulness. 

Which of the sentences below best expresses the essential information in the highlighted sentence in the passage? 

A society’s rites were more likely to be retained in the oral tradition if its myths were admired for artistic qualities.

The artistic quality of a myth was sometimes an essential reason for a society to abandon it from the oral tradition.

Some early societies stopped using myths in their religious practices when rites ceased to be seen as useful for social well-being.

Myths sometimes survived in a society’s tradition because of their artistic qualities even after they were no longer deemed religiously beneficial.

例题10：Physiological immaturity may be part of why infants and toddlers do not form extremely enduring memories, even when they hear stories that promote such remembering in preschoolers. 

Which of the sentences below best expresses the essential information in the highlighted sentence in the passage? 
Incomplete physiological development may partly explain why hearing stories does not improve long-term memory in infants and toddlers

One reason why preschoolers fail to comprehend the stories they hear is that they are physiologically immature

Given the chance to hear stories，infants and toddlers may form enduring memories despite physiological immaturity．

Physiologically mature children seem to have no difficulty remembering stories they heard as preschoolers．No causal relationship
例题11： Wind velocity also increases with altitude and may cause serious stress for trees, as is made evident by the deformed shapes at high altitudes. 
Which of the sentences below best express the essential information in the highlighted sentence in the passage? 
Because of their deformed shapes at high altitudes, trees are not likely to be seriously harmed by the strong winds typical of those altitudes. Effect is wrong
As altitude increases, the velocity of winds increase, leading to a serious decrease in the number of trees found at high altitudes. 
The deformed shapes of trees at high altitudes show that wind velocity, which increase with altitude, can cause serious hardship for trees.
Increased wind velocity at high altitudes deforms the shapes of trees, and this may cause serious stress for trees.

例题12：These ideas remain controversial. Proponents point to features such as the terraced “beaches” shown in one image, which could conceivably have been left behind as a lake or ocean evaporated and the shoreline receded. But detractors maintain that the terraces could also have been created by geological activity, perhaps related to the geologic forces that depressed the Northern Hemisphere far below the level of the south, in which case they have nothing whatever to do with Martian water. 
Which of the sentences below best expresses the essential information in the highlighted sentence in the passage? 

But detractors argue that geological activity may be responsible for the water associated with the terraces. 
But detractors argue that the terraces may have been formed by geological activity rather than by the presence of water.
But detractors argue that the terraces may be related to geological forces in the Northern Hemisphere of Mars, rather than to Martian water in the south.
But detractors argue that geological forces depressed the Northern Hemisphere so far below the level of the south that the terraces could not have been formed by water.
2. 没有明显逻辑的句子简化题：
例题1：Starvation is widespread in the Third World because of climate change, natural disaster, political turmoil, and wars-all of which disrupt food production and cause mass migrations of refugees. People who are uprooted cannot grow food, and those who are poor cannot buy it. 
Which sentence below best expresses the essential information in the highlighted sentence in paragraph 2? 
Food cannot be grown in some regions because the soil is too poor.
Refugees are unable to produce food, and poor people cannot afford food.
People cannot survive solely on root crops, which are poor in nutrients.
Some people can relocate to find food, but poor people have nowhere to go.
例题2：It is significant that the earliest living things that built communities on these islands are examples of symbiosis, a phenomenon that depends upon the close cooperation of two or more forms of life and a principle that is very important in island communities.
Which of the sentences below best expresses the essential information in the highlighted sentence in the passage? 

Some of the earliest important examples of symbiosis-the close cooperation of two or more living things-occur in island communities. 

Symbiosis-the close cooperation of pairs or small groups of living organisms-is especially important in these island environments.

The first organisms on these islands worked together closely in a relationship known as symbiosis, which is particularly important on islands.

It is significant to note that organisms in the beginning stages of the development of island life cannot survive without close cooperation.

例题3：Over long periods of time, substances whose physical and chemical properties change with the ambient climate at the time can be deposited in a systematic way to provide a continuous record of changes in those properties overtime, sometimes for hundreds or thousands of years. Information on temperature, rainfall, and other aspects of the climate that can be inferred from the systematic changes in properties is usually referred to as proxy data.
Which of the sentences below best expresses the essential information in the highlighted sentence in the passage? 
Because physical and chemical properties of substances are unchanging, they are useful records of climate fluctuations over time
For hundreds or thousands of years, people have been observing changes in the chemical and physical properties of substances in order to infer climate change
Because it takes long periods of time for the climate to change, systematic changes in the properties of substances are difficult to observe.
Changes in systematically deposited substances that are affected by climate can indicate climate variations over time.

例题4：But as more and more accumulations of strata were cataloged in more and more places, it became clear that the sequences of rocks sometimes differed from region to region and that no rock type was ever going to become a reliable time marker throughout the world．

Which of the sentences below best expresses the essential information in the   highlighted sentence in the passage? 
  The discovery of regional differences in the sequences of rocks led geologists to believe that rock types could someday become reliable time markers．

  Careful analysis of strata revealed that rocks cannot establish geological time because the pattern of rock layers varies from place to place．

  Smith's catalogs of rock strata indicated that the sequences of rocks are different from place to place and from region to region．

Because people did not catalog regional differences in sequences of rocks. It was believed that rocks could never be reliable time markers

例题5：Many plants and animals disappear abruptly from the fossil record as one moves from layers of rock documenting the end of the Cretaceous up into rocks representing the beginning of the Cenozoic (the era after the Mesozoic). 
Which of the sentences below best expresses the essential information in the highlighted sentence in the passage? 

The fossil record suggests that there was an abrupt extinction of many plants and animals at the end of the Mesozoic era.

Few fossils of the Mesozoic era have survived in the rocks that mark the end of the Cretaceous. 
Fossils from the Cretaceous period of the Mesozoic up to the beginning of the Cenozoic era have been removed from the layers of rock that surrounded them.

Plants and animals from the Mesozoic era were unable to survive in the Cenozoic era.

例题6：Current archaeological theory holds that the first humans in the Americas were bands of advanced Stone Age people who crossed over from what is now Siberia in Asia sometime between 12 and 30 thousand years ago. Some scientists think that these early humans crossed what is now the Bering Sea on a land bridge, a stretch of glacial ice connecting Asia and North America. Others speculate that they may have crossed that 55-mile-wide channel by boat.
Which sentence below best expresses the essential information in the highlighted sentence in paragraph 6? 
     Theories vary widely over how the first humans arrived in the Americas, but most state that it occurred around 30 thousand years ago.
     The best current theory states that between 12 and 30 thousand early humans crossed over from Siberia to North America.
     Human beings originated in Siberia in Asia and later formed into bands that migrated to the Americas during the Stone Age.
     Archaeologists believe that groups of Stone Age humans first came to the Americas from Asia about 12 to 30 thousand years ago.
六、事实信息题：
（一）事实信息题特征：根据文中明确出现的事实细节等，选择选项中与之相近的同义改写选项    
注意：正确答案的相关信息在文章中可能只是一句或两句话          

提问方式：1. According to paragraph n/ the passage, X...
           2. The author's description of X mentions which of the following
选项特征

1. 总体特征：四个选项基本不相关
2. 正确选项特征：答为所问，且文中明确对应
3. 错误选项特征：1.  逻辑错误（莫名比较，无关因果）                       
                2.  出现未提及信息（极端词、新信息）                      
                3.  与原文矛盾                                            
                4.  原文内容混搭                                         
例题1： Paleontologists have argued for a long time that the demise of the dinosaurs was caused by climatic alterations associated with slow changes in the positions of continents and seas resulting from plate tectonics. Off and on throughout the Cretaceous (the last period of the Mesozoic era, during which dinosaurs flourished), large shallow seas covered extensive areas of the continents. Data from diverse sources, including geochemical evidence preserved in seafloor sediments, indicate that the Late Cretaceous climate was milder than today’s. The days were not too hot, nor the nights too cold. The summers were not too warm, nor the winters too frigid. The shallow seas on the continents probably buffered the temperature of the nearby air, keeping it relatively constant.

According to paragraph 1, which of the following is true of the Late Cretaceous climate?

Summers were very warm and winters were very cold.

Shallow seas on the continents caused frequent temperature changes.

The climate was very similar to today’s climate.

The climate did not change dramatically from season to season.

（二）定位方法：
（二）定位方法：
    1. 大定位：(1) 箭头 + According to paragraph N.
                (2) 没有指定具体段落：原则：出题顺序与行文顺序基本一致原则     
                    1）当题目不是最后一个小题：判断上一题和下一题的位置         

                    2）题目是最后一个小题：利用选项线索，从后向前全文定位              
2. 小定位：1.根据定位线索（原词及表述相同意思的意群），回原文定位包含线索及其

相同意群的句子。
           2.如果被问及的定位线索词是文章的话题topic或频繁出现的，则用选
项中的定位线索词来定位。（除非出题点在前两段）
常用定位线索词：大写词，专有名词，人名，地名，时间，数字                      

                chrysanthemum用C，Cretaceous，Cenozoic，Mesozoic
（三）分类题目
1. 定位明确：
例题2：Stories (myths) may then grow up around a ritual. Frequently the myths include representatives of those supernatural forces that the rites celebrate or hope to influence. Performers may wear costumes and masks to represent the mythical characters or supernatural forces in the rituals or in accompanying celebrations. As a people becomes more sophisticated, its conceptions of supernatural forces and causal relationships may change. As a result, it may abandon or modify some rites. But the myths that have grown up around the rites may continue as part of the group’s oral tradition and may even come to be acted out under conditions divorced from these rites. When this occurs, the first step has been taken toward theater as an autonomous activity, and thereafter entertainment and aesthetic values may gradually replace the former mystical and socially efficacious concerns. 

 

According to paragraph 2, what may cause societies to abandon certain rites?

Emphasizing theater as entertainment

Developing a new understanding of why events occur

Finding a more sophisticated way of representing mythical characters

Moving from a primarily oral tradition to a more written tradition myths
例题3：The transition from forest to treeless tundra on a mountain slope is often a dramatic one. Within a vertical distance of just a few tens of meters, trees disappear as a life-form and are replaced by low shrubs, herbs, and grasses. This rapid zone of transition is called the upper timberline or tree line. In many semiarid areas there is also a lower timberline where the forest passes into steppe or desert at its lower edge, usually because of a lack of moisture.

Where is the lower timberline mentioned in paragraph 3 likely to be found?

In an area that has little water 

In an area that has little sunlight

Above a transition area

On a mountain that has on upper timberline.

例题4：
GEOLOGY AND LANDSCAPE

Paragraph 1：Most people consider the landscape to be unchanging, but Earth is a dynamic body, and its surface is continually altering-slowly on the human time scale, but relatively rapidly when compared to the great age of Earth (about 4,500 billion years). There are two principal influences that shape the terrain: constructive processes such as uplift, which create new landscape features, and destructive forces such as erosion, which gradually wear away exposed landforms.

 

According to paragraph 1 which of the following statements is true of changes in Earth's landscape?

They occur more often by uplift than by erosion

They occur only at special times.

They occur less frequently now than they once did.

They occur quickly in geological terms.

2. 定位不明确
(1)明确段落，但文中大量出现定位线索
例题5：

Paragraph 5: The necessary space is there, however, in many forms. The commonest spaces are those among the particles—sand grains and tiny pebbles—of loose, unconsolidated sand and gravel. Beds of this material, out of sight beneath the soil, are common. They are found wherever fast rivers （carrying loads of coarse sediment） once flowed. For example, as the great ice sheets that covered North America during the last ice age steadily melted away, huge volumes of water flowed from them. The water was always laden with pebbles, gravel, and sand, known as glacial outwash, that was deposited as the flow slowed down. 

 

According to paragraph 5, where is groundwater usually found?

Inside pieces of sand and gravel
On top of beds of rock 
In fast rivers that are flowing. 
In spaces between pieces of sediment

例题6：

Paragraph 6：Reduction in numbers of game should have boded ill for their survival in later times. A worsening of the plight of deer was to be expected as settlers encroached on the land, logging, burning, and clearing, eventually replacing a wilderness landscape with roads, cities, towns, and factories. No doubt the numbers of deer declined still further. Recall the fate of the Columbian white-tailed deer, now in a protected status. But for the black-tailed deer, human pressure has had just the opposite effect. Wild life zoologist Hulmut Buechner(1953), in reviewing the nature of biotic changes in Washington through recorded time, Says that "since the early 1940s, the state has had more deer than at any other time in its history, the winter population fluctuating around approximately 320,000 deer (mule and black-tailed deer), which will yield about 65,000 of either sex and any age annually for an indefinite period."

Which of the following statements about deer populations is supported by the information in paragraph 6? 

Deer populations reached their highest point during the 1940s and then began to decline. 

The activities of settlers contributed in unexpected ways to the growth of some deer populations in later times. 

The cleaning of wilderness land for construction caused biotic changes from which the black-tailed deer population has never recovered. 

Since the 1940s the winter populations of deer have fluctuated more than the summer populations have. 

例题7：
Paragraph 7: By 1800 more than a thousand steam engines were in use in the British Isles, and Britain retained a virtual monopoly on steam engine production until the 1830s. Steam power did not merely spin cotton and roll iron; early in the new century it also multiplied ten times over the amount of paper that a single worker could produce in a day. At the same time, operators of the first printing presses run by steam rather than by hand found it possible to produce a thousand pages in an hour rather than thirty. Steam also promised to eliminate a transportation problem not fully solved by either canal boats and turnpikes．Boats could carry heavy weights, but canals could not cross hilly terrain; turnpikes could cross the hills, but the roadbeds could not stand up under great weights. These problems needed still another solution, and the ingredients for it lay close at hand. In some industrial regions, heavily laden wagons, with flanged wheels, were being hauled by horses along metal rails; and the stationary steam engine was puffing in the factory and mine．Another generation passed; before Inventors succeeded in combining these ingredients by putting the engine on wheels and the wheels on the rails, so as to provide a machine to take the place of the horse. Thus the railroad age sprang from what had already happened in the eighteenth century.

According to paragraph 7, which of the following statements about steam engines is true?

They were used for the production of paper but not for printing

By 1800, significant numbers of them were produced outside of Britain

They were used in factories before they were used to power trains

They were used in the construction of canals and turnpikes

 (2)未明确段落，但定位线索明确
1）题目不是最后一个小题
例题8：
Opportunists and Competitors

Paragraph 7：The opposite of an opportunist is a competitor. These organisms tend to have big bodies, are long-lived, and spend relatively little effort each year on reproduction. An oak tree is a good example of a competitor. A massive oak claims its ground for 200 years or more, outcompeting all other would-be canopy trees by casting a dense shade and drawing up any free water in the soil. The leaves of an oak tree taste foul because they are rich in tannins, a chemical that renders them distasteful or indigestible to many organisms. The tannins are part of the defense mechanism that is essential to longevity. Although oaks produce thousands of acorns, the investment in a crop of acorns is small compared with the energy spent on building leaves, trunk, and roots. Once an oak tree becomes established, it is likely to survive minor cycles of drought and even fire. A population of oaks is likely to be relatively stable through time, and its survival is likely to depend more on its ability to withstand the pressures of competition or predation than on its ability to take advantage of chance events. It should be noted, however, that the pure opportunist or pure competitor is rare in nature, as most species fall between the extremes of a continuum, exhibiting a blend of some opportunistic and some competitive characteristics.

According to the passage, oak trees are considered competitors because

 They grow in areas free of opportunists 

 They spend more energy on their leaves, trunks and roots than on their acorns 

 Their population tends to increase or decrease in irregular cycles 

 Unlike other organisms, they do not need much water or sunlight 

2）题目是最后一个小题
例题9：
LOIE FULLER

Paragraph 8: As her technological expertise grew more sophisticated, so did the other aspects of her dances. Although she gave little thought to music in her earliest dances, she later used scores by Gluck, Beethoven, Schubert, Chopin, and Wagner, eventually graduating to Stravinsky, Fauré, Debussy, and Mussorgsky, composers who were then considered progressive. She began to address more ambitious themes in her dances such as The Sea, in which her dancers invisibly agitated a huge expanse of silk, played upon by colored lights. Always open to scientific and technological innovations, she befriended the scientists Marie and Pierre Curie upon their discovery of radium and created a Radium Dance, which simulated the phosphorescence of that element. She both appeared in films—then in an early stage of development—and made them herself; the hero of her fairy-tale film Le Lys de la Vie (1919) was played by René Clair, later a leading French film director. 

The passage mentions which of the following as a dance of Fuller’s that was set to music?

Fire Dance 
Radium Dance

Le Lys de la Vie

Valse à la Loie

3. 跨段式题目
例题10：
Paragraph 4: Thus a proportion of the total volume of any sediment, loose or cemented, consists of empty space. Most crystalline rocks are much more solid; a common exception is basalt, a form of solidified volcanic lava, which is sometimes full of tiny bubbles that make it very porous.

Paragraph 5: The proportion of empty space in a rock is known as its porosity. But note that porosity is not the same as permeability, which measures the ease with which water can flow through a material; this depends on the sizes of the individual cavities and the crevices linking them.

 

According to paragraphs 4and 5, why is basalt unlike most crystalline forms of rock?

It is unusually solid

It often has high porosity.

It has a low proportion of empty space.

It is highly permeable. 
例题11:
Paragraph 5: A third likely explanation for infantile amnesia involves incompatibilities between the ways in which infants encode information and the ways in which older children and adults retrieve it. Whether people can remember an event depends critically on the fit between the way in which they earlier encoded the information and the way in which they later attempt to retrieve it. The better able the person is to reconstruct the perspective from which the material was encoded, the more likely that recall will be successful. 
Paragraph 6: This view is supported by a variety of factors that can create mismatches between very young children's encoding and older children's and adults' retrieval efforts. The world looks very different to a person whose head is only two or three feet above the ground than to one whose head is five or six feet above it, 0lder children and adults often try to retrieve the names of things they saw, but infants would not have encoded the information verbally．General knowledge of categories of events such as a birthday party or a visit to the doctor's office helps older individuals encode their experiences, but again, infants and toddlers are unlikely to encode many experiences within such knowledge structures．

According to paragraphs 5 and 6，one disadvantage very young children face in processing information is that they cannot

process a lot of information at one time

organize experiences according to type 
block out interruptions

interpret the tone of adult language

4 选两个答案TWO
例题12：
Paragraph 12：Many millions of years after ferns evolved (but long before the Hawaiian Island were born from the sea), another kind of flora evolved on Earth: the seed-bearing plants. This was a wonderful biological invention. The seed has an outer coating that surrounds the genetic material of the new plant, and inside this covering is a concentrated supply of nutrients. Thus, the seed's chances of survival are greatly enhanced over those of the naked spore. One type of seed-bearing plant, the angiosperm, includes all forms of blooming vegetation. In the angiosperm the seeds are wrapped in an additional layer of covering. Some of these coats are hard-like the shell of a nut-for extra protection. Some are soft and tempting, like a peach or a cherry. In some angiosperm the seeds are equipped with gossamer wings, like the dandelion and milkweed seeds. These new characteristics offered better ways for the seeds to move to new habitats. They could travel through the air, float in water, and lie dormant for many months. 

According to paragraph 12, why do seeds have a greater chance of survival than spores do? To receive credit, you must select TWO answer choices.

 Seeds need less water to grow into a mature plant than spores do.

 Seeds do not need to rely on outside sources of nutrients.

 Seeds are better protected from environmental dangers than spores are.

 Seeds are heavier than spores and are therefore more likely to take root and grow.

七、否定事实信息题 （排除列举题）
实质：要求学生尽可能多的阅读并理解文章
特征：大写的EXCEPT, NOT
（一）常见提问方式：
According to the passage, which of the following is NOT true of X?
The author’s description of X mentions all of the following EXCEPT
（二）解题思想：  找与原文矛盾，逻辑不一致，或未提及信息                        

注意：  一定要回顾原文！ （OG中明确要求，不许凭感觉！）              

定位方法：与事实信息题一样
（三）解题步骤：
一段式：定位后，读一两句看一下选项，进行排除。（若定位词为整段叙述内容，从最开始读一两句排除一次选项）
例题1：
Paragraph 3: The same thing happens to this day, though on a smaller scale, wherever a sediment-laden river or stream emerges from a mountain valley onto relatively flat land, dropping its load as the current slows: the water usually spreads out fanwise, depositing the sediment in the form of a smooth, fan-shaped slope. Sediments are also dropped where a river slows on entering a lake or the sea, the deposited sediments are on a lake floor or the seafloor at first, but will be located inland at some future date, when the sea level falls or the land rises; such beds are sometimes thousands of meters thick.

 

6. All of the following are mentioned in paragraph 3 as places that sediment-laden rivers can deposit their sediments EXCEPT

A mountain valley 

Flat land

A lake floor

The seafloor

例题2：
Paragraph 1：There is a quality of cohesiveness about the Roman world that applied neither to Greece nor perhaps to any other civilization, ancient or modern. Like the stone of Roman wall, which were held together both by the regularity of the design and by that peculiarly powerful Roman cement, so the various parts of the Roman realm were bonded into a massive, monolithic entity by physical, organizational, and psychological controls. The physical bonds included the network of military garrisons, which were stationed in every province, and the network of stone-built roads that linked the provinces with Rome. The organizational bonds were based on the common principles of law and administration and on the universal army of officials who enforced common standards of conduct. The psychological controls were built on fear and punishment—on the absolute certainty that anyone or anything that threatened the authority of Rome would be utterly destroyed.

2. According to paragraph 1, all of the following are controls that held together the roman world EXCEPT

administrative and legal systems

the presence of the military

a common language

transportation networks

两段式：定位线索词定位。读完所在句子，回选项排除。（相比一段式，两段式的搜索范围就得再大一些，难度也相应增加一些）
例题3：
AGGRESSION

Paragraph 7: The Cognitive Approach. Cognitive psychologists assert that our behavior is influenced by our values, by the ways in which we interpret our situations and by choice. For example, people who believe that aggression is necessary and justified-as during wartime-are likely to act aggressively, whereas people who believe that a particular war or act of aggression is unjust, or who think that aggression is never justified, are less likely to behave aggressively.

Paragraph 8: One cognitive theory suggests that aggravating and painful events trigger unpleasant feelings. These feelings, in turn, can lead to aggressive action, but not automatically. Cognitive factors intervene. People decide whether they will act aggressively or not on the basis of factors such as their experiences with aggression and their interpretation of other people's motives. Supporting evidence comes from research showing that aggressive people often distort other people's motives. For example, they assume that other people mean them harm when they do not.

According to the cognitive approach described in paragraphs 7 and 8, all of the following may influence the decision whether to act aggressively EXCEPT a person's

Moral values

Previous experiences with aggression

Instinct to avoid aggression

Beliefs about other people's intentions

例题4：
Paragraph 3：Over long periods of time, substances whose physical and chemical properties change with the ambient climate at the time can be deposited in a systematic way to provide a continuous record of changes in those properties overtime, sometimes for hundreds or thousands of years. Generally, the layering occurs on an annual basis, hence the observed changes in the records can be dated. Information on temperature, rainfall, and other aspects of the climate that can be inferred from the systematic changes in properties is usually referred to as proxy data. Proxy temperature records have been reconstructed from ice core drilled out of the central Greenland ice cap, calcite shells embedded in layered lake sediments in Western Europe, ocean floor sediment cores from the tropical Atlantic Ocean, ice cores from Peruvian glaciers, and ice cores from eastern Antarctica. While these records provide broadly consistent indications that temperature variations can occur on a global scale, there are nonetheless some intriguing differences, which suggest that the pattern of temperature variations in regional climates can also differ significantly from each other.

Paragraph 4：What the proxy records make abundantly clear is that there have been significant natural changes in the climate over timescales longer than a few thousand years. Equally striking, however, is the relative stability of the climate in the past 10.000 years (the Holocene period).

According to paragraphs 3 and 4, proxy data have suggested all of the following about the climate EXCEPT:

 Regional climates may change overtime.

 The climate has changed very little in the past 10.000 years.

 Global temperatures vary more than regional temperatures.

 Important natural changes in climate have occurred over large timescales.

多段式：结合文章结构，定位并排除，先以行文顺序为主，看下一题出题位置（顺便把题做了），则本题为该题出题段落及以上，倒着找每段定位。
例题5：
GREEN ICEBERGS

Paragraph 6: Chemical evidence shows that platelets (minute flat portions) of ice form in the water and then accrete and stick to the bottom of the ice shelf to form a slush (partially melted snow). The slush is compacted by an unknown mechanism, and solid, bubble-free ice is formed from water high in soluble organic substances. When an iceberg separates from the ice shelf and capsizes, the green ice is exposed.

Which of the following is NOT explained in the passage?

Why blocks of ice break off where glaciers meet the ocean

Why blocks of shelf ice sometimes capsize after breaking off

Why green icebergs are commonly produced in some parts of Antarctica

Why green icebergs contain large amounts of dissolved organic pigments

例题6：
DESERT FORMATION

Paragraph 9: The final major human cause of desertification is soil salinization resulting from over irrigation. Excess water from irrigation sinks down into the water table. If no drainage system exists, the water table rises, bringing dissolved salts to the surface. The water evaporates and the salts are left behind, creating a white crustal layer that prevents air and water from reaching the underlying soil. 

All of the following are mentioned in the passage as contributing to desertification EXCEPT 

Soil erosion 

Global warming 

Insufficient irrigation 

The raising of livestock 

无明确定位词：
例题7：

Paragraph 4 Dissatisfaction with conventional explanations for dinosaur extinctions led to a surprising observation that, in turn, has suggested a new hypothesis. Many plants and animals disappear abruptly from the fossil record as one moves from layers of rock documenting the end of the Cretaceous up into rocks representing the beginning of the Cenozoic (the era after the Mesozoic). Between the last layer of Cretaceous rock and the first layer of Cenozoic rock, there is often a thin layer of clay. Scientists felt that they could get an idea of how long the extinctions took by determining how long it took to deposit this one centimeter of clay and they thought they could determine the time it took to deposit the clay by determining the amount of the element iridium (lr) it contained. 

In paragraph 4, all the following questions are answered EXCEPT: 

Why is there a layer of clay between the rocks of the Cretaceous and Cenozoic?

Why were scientists interested in determining how long it took to deposit the layer of clay at the end of the Cretaceous?

What was the effect of the surprising observation scientists made?

Why did scientists want more information about the dinosaur extinctions at the end of the Cretaceous?

例题8：
Paragraph 1：We all know that many more people today are right-handed than left-handed. Can one trace this same pattern far back in prehistory? Much of the evidence about right-hand versus left-hand dominance comes from stencils and prints found in rock shelters in Australia and elsewhere, and in many Ice Age caves in France, Spain, and Tasmania. When a left hand has been stenciled, this implies that the artist was right-handed, and vice versa. Even though the paint was often sprayed on by mouth, one can assume that the dominant hand assisted in the operation. One also has to make the assumption that hands were stenciled palm downward—a left hand stenciled palm upward might of course look as if it were a right hand. Of 158 stencils in the French cave of Gargas, 136 have been identified as left, and only 22 as right; right-handedness was therefore heavily predominant.

Paragraph 2：Cave art furnishes other types of evidence of this phenomenon. Most engravings, for example, are best lit from the left, as befits the work of right-handed artists, who generally prefer to have the light source on the left so that the shadow of their hand does not fall on the tip of the engraving tool or brush. In the few cases where an Ice Age figure is depicted holding something, it is mostly, though not always, in the right hand.

All of the following are mentioned in paragraphs 1 and 2 as evidence of right-handedness in art and artists EXCEPT

 the ideal source of lighting for most engravings. 
 the fact that a left hand stenciled palm upward might look like a right hand

 the prevalence of outlines of left hands. 
 figures in prehistoric art holding objects with the right hand. 
例题9：
Transition to Sound in Film

Paragraph 3：Beyond that, the triumph of recorded sound has overshadowed the rich diversity of technological and aesthetic experiments with the visual image that were going forward simultaneously in the 1920s. New color processes, larger or differently shaped screen sizes, multiple-screen projections, even television, were among the developments invented or tried out during the period, sometimes with startling success. The high costs of converting to sound and the early limitations of sound technology were among the factors that suppressed innovations or retarded advancement in these other areas. The introduction of new screen formats was put off for a quarter century, and color, though utilized over the next two decades for special productions, also did not become a norm until the 1950s.

According to paragraph 3, which of the following is NOT true of the technological and aesthetic experiments of the 1920's?

Because the costs of introducing recorded sound were low, it was the only innovation that was put to use inthe1920's. 

The introduction of recorded sound prevented the development of other technological innovations in the 1920's

The new technological and aesthetic developments of the 1920s included the use of color, new screen formats, and television.

Many of the innovations developed in the 1920s were not widely introduced until as late as the 1950's.

                      题干中明确段落
                                          题目是最后一题：最后一段向上寻
           大定位                                          1.上3下5，定位4
                      题干中未明确段落                     2.上3下3，定位3
                                  不是最后一题     3.上3下4，先3后4
                                          出题行文一致     4.上无下4，定位4及4(
                                                           5.上4下无，定位4及4(
定位方法
             定位常用线索:大写词，专有名词，人名，地名，时间，数字
                                           TOPIC短语定位，动宾/主谓结构
小定位
                     题干定位线索是TOPIC
                                           选项定位（题干为topic且无短语，或无topic）

             能够明确定位：题干明确段落，且题干定位线索文中出现少

                               明确段落，题干定位线索为TOPIC：选项定位
                                             最后一个小题：选项线索全文倒着定位
事实信息题
             不能够明确定位
                              未明确段落
                              题干定位线     不是最后一题：出题行文顺序一致原则
索为TOPIC
               两段式，TWO
  
             一段式：定位，读一两句排除一次选项
排除列举题     两段式：定位，读所在句子（及前后句子），回选项排除。
               多段式：出题行文顺序一致，上下题位置，确定优先考察段落
4个选项仅有1个含比较或极端词选项，用比较对象和极端词修饰对象定位
小技巧        4个选项中有2个含比较或极端，则直接读文章，不根据极端和比较选择
4个选项中有3个比较或极端词选项，则看没有的那个选项先回原文定位
八、段落结构分析
（一）讲段落结构分析的意义：
1. 节省时间：比老托福文章长1倍，需要详略得当的阅读文章（OG）
2. 有助于清晰把握文章脉络，抓住文章重点，便于做题。
3. 该技巧适用于未来其他考试
4.出国学习
学术性文章包含内容：

1. Topic: 文章标题，即文章主要论述的对象。                                     
2. Aspect: 作者围绕文章标题Topic进一步阐述的方面。                           
3. Attitude: 作者态度。                                                        
   注意：Topic, Aspect和Attitude均为单词或短语，一般不是句子。               
4. Main Idea : 主要思想，分为段落层面Main Idea和篇章层面Main Idea。         

   显性Explicit Main Idea: 作者在文章中明确给出表达主要思想的概括性句子。      
   隐性Implicit Main Idea: 作者在文章中未给出表达主要思想的概括性句子，需要考 

生根据文中信息总结得出。                           
5. Thesis Statement: 涵盖Topic的篇章主题句，显性篇章层面Main Idea。        
6. Topic Sentence : 涵盖Aspect的一段或某几段主题句，显性段落层面Main Idea。                                                    
   注意：Topic Sentence is a sentence that states the main thought of a paragraph or of a larger unit of discourse and is usually placed at or near the beginning.                                                                   
从该定义中可以看出：(1) 一个段落中最多只有1个TS; (2) TS常为多段概述性内容   
7. Detail : 细节                                                                
   Detail分为:   (1) Background篇章背景内容                                  
(2) Major Detail(概述性细节/主要细节)                          

(3) Minor Detail(详述性细节/次要细节)                          
（二）成分间关系如下表1，表2所示
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（三）段落种类：
段落分3种，分别为：Introduction，Body主体段落，以及Sum。
Introduction段落：介绍性内容
	Background

	Thesis


                          图1  Introduction结构
Body段落：
	Transition

	Topic Sentence

	Detail (D1+D11+D2+D21…)

	Conclusion


                         图2  段落结构形式1
	（TS?）Detail/Deduction

	Conclusion


                         图3  段落结构形式2
	（Tr）Topic Sentence

	Detail (D1+D11+D2+D21…)



图4  段落结构形式3
Sum段落：


	Sum

	Broaden/Attitude


                        图5  结论段结构形式
段落结构范例：Swimming Machine: paragraph 1, 2, 3, 6, 7, 9

              Desert Formation: Paragraph 1, 10 

九、推断题
推断题本质：  逻辑推理型事实信息题                                    

推断题特征：题干中含有： infer, imply, indicate, suggest, conclude
托福常见推理逻辑： 

1. 对比推理：时间对比，空间对比，不同事物对比（选项表现不同即可，不必取非）
2. 元素与集合推理： （1）A属于C，则A与C有相同特征                 
                 （2）A属于C，B属于C；则A与B在C的特征上相同
                    （3）A属于C，A=B；则B属于C                   
3. 三段论： 第一段  （1）  AB同时发生       （2） AB至少发生一个
            第二段         A发生                  A不发生        
            第三段         B必发生                B必发生                                      

错误选项常见情况：

1. 比较关系原文无对应（极端词）

2. 跨层次推理

3. 选项中信息原文无对应

4. 混搭原文信息

解题步骤：
1.  定位并找相关推理线索，解题                      
2. 找全定位区间相关信息，解题                         
3. 读整段并总结段落主要思想，解题                       
1. 定位一句话可解题
例题1：
Paragraph 3：Oil pools are valuable underground accumulations of oil, and oil fields are regions underlain by one or more oil pools. When an oil pool or field has been discovered, wells are drilled into the ground. Permanent towers, called derricks, used to be built to handle the long sections of drilling pipe. Now portable drilling machines are set up and are then dismantled and removed. When the well reaches a pool, oil usually rises up the well because of its density difference with water beneath it or because of the pressure of expanding gas trapped above it. Although this rise of oil is almost always carefully controlled today, spouts of oil, or gushers, were common in the past. Gas pressure gradually dies out, and oil is pumped from the well. Water or steam may be pumped down adjacent wells to help push the oil out. At a refinery, the crude oil from underground is separated into natural gas, gasoline, kerosene, and various oils. Petrochemicals such as dyes, fertilizer, and plastic are also manufactured from the petroleum. 

  Which of the following can be inferred from paragraph 3 about gushers? 

They make bringing the oil to the surface easier. 

They signal the presence of huge oil reserves. 

They waste more oil than they collect. 

They are unlikely to occur nowadays. 
例题2：
Paragraph 1: Groundwater is the word used to describe water that saturates the ground, filling all the available spaces. By far the most abundant type of groundwater is meteoric water; this is the groundwater that circulates as part of the water cycle. Ordinary meteoric water is water that has soaked into the ground from the surface, from precipitation (rain and snow) and from lakes and streams. There it remains, sometimes for long periods, before emerging at the surface again. At first thought it seems incredible that there can be enough space in the “solid” ground underfoot to hold all this water. 

Which of the following can be inferred from paragraph 1 about the ground that we walk on?

It cannot hold rainwater for long periods of time.

It prevents most groundwater from circulating.

It has the capacity to store large amounts of water.

It absorbs most of the water it contains from rivers.

例题3：
Paragraph 3：With question such as these clearly before them, the scientists aboard the Glomar Challenger processed to the Mediterranean to search for the answers. On August 23, 1970, they recovered a sample. The sample consisted of pebbles of gypsum and fragments of volcanic rock. Not a single pebble was found that might have indicated that the pebbles came from the nearby continent. In the days following, samples of solid gypsum were repeatedly brought on deck as drilling operations penetrated the seafloor. Furthermore, the gypsum was found to possess peculiarities of composition and structure that suggested it had formed on desert flats. Sediment above and below the gypsum layer contained tiny marine fossils, indicating open-ocean conditions. As they drilled into the central and deepest part of the Mediterranean basin, the scientists took solid, shiny, crystalline salt from the core barrel. Interbedded with the salt were thin layers of what appeared to be windblown silt.
Which of the following can be inferred from paragraph 3 about the solid gypsum layer?

It did not contain any marine fossil. 

It had formed in open-ocean conditions. 
It had once been soft, deep-sea mud.

It contained sediment from nearby deserts.

2. 定位一句话不能解题
例题4：
Paragraph 5: Even the kind of stability defined as simple lack of change is not always associated with maximum diversity. At least in temperate zones, maximum diversity is often found in mid-successional stages, not in the climax community. Once a redwood forest matures, for example, the kinds of species and the number of individuals growing on the forest floor are reduced. In general, diversity, by itself, does not ensure stability. Mathematical models of ecosystems likewise suggest that diversity does not guarantee ecosystem stability—just the opposite, in fact. A more complicated system is, in general, more likely than a simple system to break down. (A fifteen-speed racing bicycle is more likely to break down than a child’s tricycle.)

Which of the following can be inferred from paragraph 5 about redwood forests?

They become less stable as they mature.

They support many species when they reach climax.

They are found in temperate zones.

They have reduced diversity during mid-successional stages.

例题5：
Paragraph 2: Spores light enough to float on the breezes were carried thousands of miles from more ancient lands and deposited at random across the bare mountain flanks. A few of these spores found a toehold on the dark, forbidding rocks and grew and began to work their transformation upon the land. Lichens were probably the first successful flora. These are not single individual plants; each one is a symbiotic combination of an alga and a fungus. The algae capture the Sun's energy by photosynthesis and store it in organic molecules. The fungi absorb moisture and mineral salts from the rocks, passing these on in waste products that nourish algae. It is significant that the earliest living things that built communities on these islands are examples of symbiosis, a phenomenon that depends upon the close cooperation of two or more forms of life and a principle that is very important in island communities.

It can be inferred from paragraph 2 that the fungi in lichens benefit from their symbiotic relationship with algae in what way?

The algae help the fungi meet some of their energy needs. 

The algae protect the fungi from the Sun's radiation.

The algae provide the fungi with greater space for absorbing water. 

The fungi produce less waste in the presence of algae. 

例题6：
Paragraph 2：Further evidence for the costs of begging comes from a study of differences in the begging calls of warbler species that nest on the ground versus those that nest in the relative safety of trees. The young of ground-nesting warblers produce begging cheeps of higher frequencies than do their tree-nesting relatives. These higher-frequency sounds do not travel as far, and so may better conceal the individuals producing them, who are especially vulnerable to predators in their ground nests. David Haskell created artificial nests with clay eggs and placed them on the ground beside a tape recorder that played the begging calls of either tree-nesting or of ground-nesting warblers. The eggs “advertised” by the tree-nesters' begging calls were found bitten significantly more often than the eggs associated with the ground-nesters' calls.

Paragraph 2 indicates that the begging calls of tree nesting warblers

 put them at more risk than ground-nesting warblers experience， 

 can be heard from a greater distance than those of ground-nesting warblers

 are more likely to conceal the signaler than those of ground-nesting warblers 

 have higher frequencies than those of ground nesting warblers 

3. 跨段式
例题7：Electricity from Wind

… In principle, all the power needs of the United States could be provided by exploiting the wind potential of just three states—North Dakota, South Dakota, and Texas. 

Paragraph 3: Wind power has a significant cost advantage over nuclear power and has become competitive with coal-fired power plants in many places. With new technological advances and mass production, projected cost declines should make wind power one of the world’s cheapest ways to produce electricity. In the long run, electricity from large wind farms in remote areas might be used to make hydrogen gas from water during periods when there is less than peak demand for electricity. The hydrogen gas could then be fed into a storage system and used to generate electricity when additional or backup power is needed.

Paragraph 4: Wind power is most economical in areas with steady winds. In areas where the wind dies down, backup electricity from a utility company or from an energy storage system becomes necessary. Backup power could also be provided by linking wind farms with a solar cell, with conventional or pumped-storage hydropower, or with efficient natural-gas-burning turbines. Some drawbacks to wind farms include visual pollution and noise, although these can be overcome by improving their design and locating them in isolated areas.

Based on the information in paragraph 3 and paragraph 4, what can be inferred about the states of North Dakota, South Dakota, and Texas mentioned at the end of paragraph 1?

They rely largely on coal-fired power plants. 

They contain remote areas where the winds rarely die down. 

Over 1 percent of the electricity in these states is produced by wind farms. 

Wind farms in these states are being expanded to meet the power needs of the United States. 

例题8：
Paragraph 2: How did this tremendous development take place, and why did it happen in the Teotihuacán Valley? Among the main factors are Teotihuacán’s geographic location on a natural trade route to the south and east of the Valley of Mexico, the obsidian resources in the Teotihuacán Valley itself, and the valley’s potential for extensive irrigation. The exact role of other factors is much more difficult to pinpoint―for instance, Teotihuacán’s religious significance as a shrine, the historical situation in and around the Valley of Mexico toward the end of the first millennium B.C., the ingenuity and foresightedness of Teotihuacán’s elite, and, finally, the impact of natural disasters, such as the volcanic eruptions of the late first millennium B.C. 
Paragraph 3: This last factor is at least circumstantially implicated in Teotihuacán’s rise. Prior to 200 B.C., a number of relatively small centers coexisted in and near the Valley of Mexico. Around this time, the largest of these centers, Cuicuilco, was seriously affected by a volcanic eruption, with much of its agricultural land covered by lava. With Cuicuilco eliminated as a potential rival, any one of a number of relatively modest towns might have emerged as a leading economic and political power in Central Mexico. The archaeological evidence clearly indicates, though, that Teotiluacan was the center that did arise as the predominant force in the area by the first century A.D.

Which of the following can be inferred from paragraphs 2 and 3 about the Volcanic eruptions of the late first millennium B.C.?

They were more frequent than historians once thought.

They may have done more damage to Teotihuacán than to neighboring centers.

They may have played a major role in the rise of Teotihuacán.

They increased the need for extensive irrigation in the Teotihuacán Valley  

例题9：

Paragraph 4：Given that predators can make it costly to beg for food, what benefit do begging nestlings derive from their communications? One possibility is that a noisy baby bird provides accurate signals of its real hunger and good health, making it worthwhile for the listening parent to give it food in a nest where several other offspring are usually available to be fed. If this hypothesis is true, then it follows that nestlings should adjust the intensity of their signals in relation to the signals produced by their nestmates, who are competing for parental attention. When experimentally deprived baby robins are placed in a nest with normally fed siblings, the hungry nestlings beg more loudly than usual—but so do their better-fed siblings, though not as loudly as the hungrier birds.

Paragraph 5：If parent birds use begging intensity to direct food to healthy offspring capable of vigorous begging, then parents should make food delivery decisions on the basis of their offsprings calls. Indeed, if you take baby tree swallows out of a nest for an hour feeding half the set and starving the other half, when the birds are replaced in the nest, the starved youngsters beg more loudly than the fed birds, and the parent birds feed the active beggars more than those who beg less vigorously.

It can be inferred from paragraphs 4 and 5 that parent songbirds normally do not feed

 nestlings that are too weak to beg for food as vigorously as their nestmates

 more than one hungry nestling during a single visit to the nest

 offspring that were fed by the parents on the previous visit to the nest

 nestlings that have been removed and then later put back into their nest

极端词：
例题10：Meteorite Impact and Dinosaur Extinction

Paragraph 3: The body that impacted Earth at the end of the Cretaceous period was a meteorite with a mass of more than a trillion tons and a diameter of at least 10 kilometers. Scientists first identified this impact in 1980 from the worldwide layer of sediment deposited from the dust cloud that enveloped the planet after the impact. This sediment layer is enriched in the rare metal iridium and other elements that are relatively abundant in a meteorite but very rare in the crust of Earth. Even diluted by the terrestrial material excavated from the crater, this component of meteorites is easily identified. By 1990 geologists had located the impact site itself in the Yucat region of Mexico. The crater, now deeply buried in sediment, was originally about 200 kilometers in diameter. 

Which of the following can be inferred from paragraph 3 about the location of the meteorite impact in Mexico? 
 The location of the impact site in Mexico was kept secret by geologists from 1980 to 1990.
It was a well-known fact that the impact had occurred in the Yucat region. 
Geologists knew that there had been an impact before they knew where it had occurred.
The Yucat region was chosen by geologists as the most probable impact site because of its climate. 

例题11：

Paragraph 2: This was before the steam locomotive, and canal building was at its height. The companies building the canals to transport coal needed surveyors to help them find the coal deposits worth mining as well as to determine the best courses for the canals. This job gave Smith an opportunity to study the fresh rock outcrops created by the newly dug canal. He later worked on similar jobs across the length and breadth of England all the while studying the newly revealed strata and collecting all the fossils he could find．Smith used mail coaches to travel as much as 10000 miles per year．In 1815 he published the first modern geological map “A Map of the Strata of England and Wales with a Part of Scotland”,  map so meticulously researched that it can still be used today．
According to paragraph2，which of the following is true of the map published by William Smith? 

It indicates the locations of England's major canals。
It became most valuable when the steam locomotive made rail travel possible

The data for the map were collected during Smith’s work on canals

It is no longer regarded as a geological masterpiece 

推断题测验
例题12：
Paragraph 2: Nearly any kind of plant of the forest understory can be part of a deer's diet. Where the forest inhibits the growth of grass and other meadow plants, the black-tailed deer browses on huckleberry, salad, dogwood, and almost any other shrub or herb. But this is fair-weather feeding. What keeps the black-tailed deer alive in the harsher seasons of plant decay and dormancy? One compensation for not hibernating is the built-in urge to migrate. Deer may move from high-elevation browse areas in summer down to the lowland areas in late fall. Even with snow on the ground, the high bushy understory is exposed; also snow and wind bring down leafy branches of cedar, hemlock, red alder, and other arboreal fodder. 

It can be inferred from the discussion in paragraph 2 that winter conditions 

 Cause some deer to hibernate 

 Make food unavailable in the highlands for deer 

 Make it easier for deer to locate understory plants 

Prevent deer from migrating during the winter 

例题13：

Lascaux Cave Paintings

Paragraph 2： One of the most puzzling aspects of the paintings is their location. Other rock paintings—for example, those of Bushmen in South Africa—are either located near cave entrances or completely in the open. Cave paintings in France and Spain, however, are in recesses and caverns far removed from original cave entrances. This means that artists were forced to work in cramped spaces and without sources of natural light. It also implies that whoever made them did not want them to be easily found. Since cave dwellers normally lived close to entrances, there must have been some reason why so many generations of Lascaux cave dwellers hid their art.

What can be inferred from paragraph 2 about cave painters in France and Spain?

They also painted rocks outside caves.

They did not live close to the cave entrances.

They developed their own sources of light to use while painting. 

Their painting practices did not last for many years. 

十、指代题
（一）实质：考察单词间指代关系的能力。
实际考察1. 考生关联句子能力；2. 语法
（二）特征：The word/phrase X refers to 阴影直接定位
（三）解题步骤:  1. 读X所在句子重点看谓语
                 2. 向前读               
                 3. 根据语意语法选则答案  
（四）解题技巧：

1. 向前指代：指代对象一般在前，且指代可传递。
          2. 句间指代：①  代词一般指代前一句主语或宾语，根据谓语动词来判断
②  This+N，指前一句内容或主语，根据名词来判断。  
3 并列结构 some other others ; one another          
                        形容词性成分： 从句，非谓语动词等，逻辑主语为先行词，根据其 

内部动词选择                                 
          3. 句内指代            逻辑指代：省略  省略主语，根据动词判断             
                        状语               不省略 指代主句的主语或宾语，根据动词判断                                
                                 非谓语动词： 逻辑主语为主句主语，根据非谓语的动词 
 判断                                 
      4. 段间指代：根据指代词后的名词及句子含义去前一段定位，(1)TS/CON (2)细节
            （assumption\view point\ hypothesis\ possibility）
          5. 单复数及人称一致原则
1. 向前指代：
例题1：

The first and only tidal power plant in North America is the Annapolis Royal Generating Station. It is located in Annapolis Royal in Canada. It was originally constructed in 1984 to look at alternative methods for generating electricity. However, it has also created changes to the local environment. The water and air temperature in the area have changed. Moreover the siltation patterns of the river have shifted, and the riverbanks on both sides of the dam have increased.
The word it in the passage refers to
 North America
 Annapolis Royal Generating Station
 Electricity
 Local environment
2. 句间指代
例题2：
Paragraph 5: Large wind farms might also interfere with the flight patterns of migratory birds in certain areas, and they have killed large birds of prey (especially hawks, falcons, and eagles) that prefer to hunt along the same ridge lines that are ideal for wind turbines. The killing of birds of prey by wind turbines has pitted environmentalists who champion wildlife protection against environmentalists who promote renewable wind energy. Researchers are evaluating how serious this problem is and hope to find ways to eliminate or sharply reduce this problem. Some analysts also contend that the number of birds killed by wind turbines is dwarfed by birds killed by other human-related sources and by the potential loss of entire bird species from possible global warming. Recorded deaths of birds of prey and other birds in wind farms in the United States currently amount to no more than 300 per year. By contrast, in the United States an estimated 97 million birds are killed each year when they collide with buildings made of plate glass, 57 million are killed on highways each year; at least 3.8 million die annually from pollution and poisoning; and millions of birds are electrocuted each year by transmission and distribution lines carrying power produced by nuclear and coal power plants.

The phrase this problem in the passage refers to

Interference with the flight patterns of migrating birds in certain areas 

Building ridge lines that are ideal for wind turbines 

The killing of birds of prey by wind turbines 

Meeting the demands of environmentalists who promote renewable wind energy 

例题3：
Paragraph 4：Many millions of years after ferns evolved (but long before the Hawaiian Island were born from the sea), another kind of flora evolved on Earth: the seed-bearing plants. This was a wonderful biological invention. The seed has an outer coating that surrounds the genetic material of the new plant, and inside this covering is a concentrated supply of nutrients. Thus, the speed's chances of survival are greatly enhanced over those of the naked spore. One type of seed-bearing plant, the angiosperm, includes all forms of blooming vegetation. In the angiosperm the seeds are wrapped in an additional layer of covering. Some of these coats are hard-like the shell of a nut-for extra protection. Some are soft and tempting, like a peach or a cherry. In some angiosperm the seeds are equipped with gossamer wings, like the dandelion and milkweed seeds. These new characteristics offered better ways for the seeds to move to new habitats. They could travel through the air, float in water, and lie dormant for many months. 

The word This in the passage refers to

the spread of ferns and mosses in Hawaii

the creation of the Hawaiian Islands

the evolution of ferns

the development of plants that produce seeds

例题4：
Paragraph 2: Stories (myths) may then grow up around a ritual. Frequently the myths include representatives of those supernatural forces that the rites celebrate or hope to influence. Performers may wear costumes and masks to represent the mythical characters or supernatural forces in the rituals or in accompanying celebrations. As a people becomes more sophisticated, its conceptions of supernatural forces and causal relationships may change. As a result, it may abandon or modify some rites. But the myths that have grown up around the rites may continue as part of the group’s oral tradition and may even come to be acted out under conditions divorced from these rites. When this occurs, the first step has been taken toward theater as an autonomous activity, and thereafter entertainment and aesthetic values may gradually replace the former mystical and socially efficacious concerns. 

 

The word “this” in the passage refers to 

The acting out of rites

The divorce of ritual performers from the rest of society

The separation of myths from rites

The celebration of supernatural forces

例题5：
Paragraph 1 In Southwest France in the 1940’s, playing children discovered Lascaux Grotto, a series of narrow cave chambers that contain huge prehistoric paintings of animals. Many of these beasts are as large as 16 feet (almost 5 meters). Some follow each other in solemn parades, but others swirl about, sideways and upside down. The animals are bulls, wild horses, reindeer, bison, and mammoths outlined with charcoal and painted mostly in reds, yellow, and browns. Scientific analysis reveals that the colors were derived from ocher and other iron oxides ground into a fine powder. Methods of applying color varied: some colors were brushed or smeared on rock surfaces and others were blown or sprayed. It is possible that tubes made from animal bones were used for spraying because hollow bones, some stained with pigment, have been found nearby.
The word others in the passage refers to

Chambers 

Paintings 

Beasts 

Parades 

3. 句内指代
1）逻辑指代：
例题6：
Paragraph 3：At the upper timberline the trees begin to become twisted and deformed. This is particularly true for trees in the middle and upper latitudes, which tend to attain greater heights on ridges, whereas in the tropics the trees reach their greater heights in the valleys. This is because middle- and upper- latitude timberlines are strongly influenced by the duration and depth of the snow cover. As the snow is deeper and lasts longer in the valleys, trees tend to attain greater heights on the ridges, even though they are more exposed to high-velocity winds and poor, thin soils there. In the tropics, the valleys appear to be more favorable because they are less prone to dry out, they have less frost, and they have deeper soils.

The word they in the passage refers to 

valleys 

trees

heights

ridges

例题7：
Paragraph 3：Animals need natural periodic signals like sunrise to maintain a cycle whose period is precisely 24 hours. Such an external cue not only coordinates an animal's daily rhythms with particular features of the local solar day but also—because it normally does so day after day-seems to keep the internal clock's period close to that of Earth's rotation. Yet despite this synchronization of the period of the internal cycle, the animal's timer itself continues to have its own genetically built-in period close to, but different from, 24 hours. Without the external cue, the difference accumulates and so the internally regulated activities of the biological day drift continuously, like the tides, in relation to the solar day. This drift has been studied extensively in many animals and in biological activities ranging from the hatching of fruit fly eggs to wheel running by squirrels. Light has a predominating influence in setting the clock. Even a fifteen-minute burst of light in otherwise sustained darkness can reset an animal's circadian rhythm. Normally, internal rhythms are kept in step by regular environmental cycles. For instance, if a homing pigeon is to navigate with its Sun compass, its clock must be properly set by cues provided by the daylight/darkness cycle.

The word it in the passage refers to
 an external cue such as sunrise

 the daily rhythm of an animal

 the local solar day

 a cycle whose period is precisely 24 hours

根据谓语动词判断
例题8：
Paragraph 1: Growth, reproduction, and daily metabolism all require an organism to expend energy. The expenditure of energy is essentially a process of budgeting, just as finances are budgeted. If all of one’s money is spent on clothes, there may be none left to buy food or go to the movies. Similarly, a plant or animal cannot squander all its energy on growing a big body if none would be left over for reproduction, for this is the surest way to extinction.

The word none in the passage refers to

 Food 

 Plant or animal 

 Energy 

 Big body 

2）形容词性修饰成分，就近原则
就近指代：（限定性定语从句，现在分词/过去分词作定语）
① 过去分词作定语
例题9：
Paragraph 2: The necessary space is there, however, in many forms. The commonest spaces are those among the particles—sand grains and tiny pebbles—of loose, unconsolidated sand and gravel. Beds of this material, out of sight beneath the soil, are common. They are found wherever fast rivers carrying loads of coarse sediment once flowed. For example, as the great ice sheets that covered North America during the last ice age steadily melted away, huge volumes of water flowed from them. The water was always laden with pebbles, gravel, and sand, known as glacial outwash, that was deposited as the flow slowed down. 

The phrase “glacial outwash” in the passage refers to 

Fast rivers

Glaciers

The huge volumes of water created by glacial melting

The particles carried in water from melting glaciers.

② 非谓语动词作状语
例题10：
Paragraph 6: Under very cold conditions, rocks can be shattered by ice and frost. Glaciers may form in permanently cold areas, and these slowly moving masses of ice cut out valleys, carrying with them huge quantities of eroded rock debris. In dry areas the wind is the principal agent of erosion. It carries fine particles of sand, which bombard exposed rock surfaces, thereby wearing them into yet more sand. Even living things contribute to the formation of landscapes. Tree roots force their way into cracks in rocks and, in so doing, speed their splitting. In contrast, the roots of grasses and other small plants may help to hold loose soil fragments together, thereby helping to prevent erosion by the wind.

The word them in the passage refers to

Cold areas

Masses of ice

Valleys

Rock debris
of结构要注意
例题11：

Paragraph 6：From early times pots were used in both religious and secular contexts. The imperial court commissioned work and in the Yuan dynasty (A.D. 1279-1368) an imperial ceramic factory was established at Jingdezhen. Pots played an important part in some religious ceremonies. Long and often lyrical descriptions of the different types of ware exist that assist in classifying pots, although these sometimes confuse an already large and complicated picture.

The word these in the passage refers to
 religious ceremonies

 descriptions

 types of ware

 pots

4. 段间指代：

例题12：
Paragraph 5: A third likely explanation for infantile amnesia involves incompatibilities between the ways In which infants encode information and the ways in which older children and adults retrieve it. Whether people can remember an event depends critically on the fit between the way in which they earlier encoded the information and the way in which they later attempt to retrieve it. The better able the person is to reconstruct the perspective from which the material was encoded, the more likely that recall will be successful. 

Paragraph 6: This view is supported by a variety of factors that can create mismatches between very young children's encoding and older children's and adults' retrieval efforts. The world looks very different to a person whose head is only two or three feet above the ground than to one whose head is five or six feet above it, 0lder children and adults often try to retrieve the names of things they saw, but infants would not have encoded the information verbally．General knowledge of categories of events such as a birthday party or a visit to the doctor's office helps older individuals encode their experiences, but again, infants and toddlers are unlikely to encode many experiences within such knowledge structures．
The phrase “This view” in the passage refers to the belief that

the ability to retrieve a memory partly depends on the similarity between the encoding and retrieving process

the process of encoding information is less complex for adults than it is for young adults and infants  
infants and older children are equally dependent on discussion of past events for the retrieval of information
infants encode information in the same way older children and adults do
十一、修辞目的题
（一）本质：考察对作者写作意图的理解能力
（二）修辞目的题特征：1. 有的有阴影
2.问法
1) In order to；
2) Why does the author/passage mention/discuss XXX..
3) What is the author’s/main/primary/ purpose of/in 
discussing/presenting …

（三）作者写作意图：

1.   写与文章主题无关内容，类比                                       

（例子：布什(猩猩；春哥(姚明；菲尔杰克逊(KFC）

              2.   写元素为解释说明集合    例子：rodent：mouse squirrel               
              3.   A—B—C A:B B解释说明A                                          
              4.   在TS中举例或陈述，为帮助读者理解TS                               

5.   作者写细节为支持解释说明对其的概述性内容                            
6.   作者写TS为说明段落写作目的                                     
7.   给出原理，为解释现象                                                

（四）解题步骤： 1.   找类比                                                        
2.   定位元素找集合                                               
3.   定位B，1. 读本句，注意A；2. 找本句概述性内容                 
4.   定位TS，读本句                                                 
5.   Dn1
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Dn2(Dn; D1
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D2(TS; TS1
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TS2(ThS                      
6.   问段落作用，找本段的TS                                        
7.   难选出答案，注意是否为现象提供解释                               
1. 关键词定位后，读定位词在句子。
2. 判断该词与段落主题是否有关系，无关系则为类比。
例题1：
Paragraph 5: Even the kind of stability defined as simple lack of change is not always associated with maximum diversity. At least in temperate zones, maximum diversity is often found in mid-successional stages, not in the climax community. Once a redwood forest matures, for example, the kinds of species and the number of individuals growing on the forest floor are reduced. In general, diversity, by itself, does not ensure stability. Mathematical models of ecosystems likewise suggest that diversity does not guarantee ecosystem stability—just the opposite, in fact. A more complicated system is, in general, more likely than a simple system to break down. (A fifteen-speed racing bicycle is more likely to break down than a child’s tricycle.)

In paragraph 5, why does the author provide the information that “(A fifteen-speed racing bicycle is more likely to break down than a child’s tricycle)”?

To illustrate a general principle about the stability of systems by using an everyday example
To demonstrate that an understanding of stability in ecosystems can be applied to help understand stability in other situations
To make a comparison that supports the claim that, in general, stability increases with diversity
To provide an example that contradicts mathematical models of ecosystems

3. 若该词是明显的元素，向前找集合。

例题2：
Paragraph 4 Many millions of years after ferns evolved (but long before the Hawaiian Island were born from the sea), another kind of flora evolved on Earth: the seed-bearing plants. This was a wonderful biological invention. The seed has an outer coating that surrounds the genetic material of the new plant, and inside this covering is a concentrated supply of nutrients. Thus, the speed's chances of survival are greatly enhanced over those of the naked spore. One type of seed-bearing plant, the angiosperm, includes all forms of blooming vegetation. In the angiosperm the seeds are wrapped in an additional layer of covering. Some of these coats are hard-like the shell of a nut-for extra protection. Some are soft and tempting, like a peach or a cherry. In some angiosperm the seeds are equipped with gossamer wings, like the dandelion and milkweed seeds. These new characteristics offered better ways for the seeds to move to new habitats. They could travel through the air, float in water, and lie dormant for many months. 

Why does the author mention a nut, a peach, and a cherry?

 To indicate that some seeds are less likely to survive than others 

 To point out that many angiosperms can be eaten
 To provide examples of blooming plants

 To illustrate the variety of coverings among angiosperm seeds
例题3：
Paragraph 2: During Jackson's second term, his opponents had gradually come together to form the Whig party. Whigs and Democrats held different attitudes toward the changes brought about by the market, banks, and commerce. The Democrats tended to view society as a continuing conflict between "the people”-farmers, planters, and workers-and a set of greedy aristocrats. This "paper money aristocracy" of bankers and investors manipulated the banking system for their own profit, Democrats claimed, and sapped the nation's virtue by encouraging speculation and the desire for sudden, unearned wealth. The Democrats wanted the rewards of the market without sacrificing the features of a simple agrarian republic. They wanted the wealth that the market offered without the competitive, changing society; the complex dealing; the dominance of urban centers; and the loss of independence that came with it.
The author mentions bankers and investors in the passage as an example of which of the following?
The Democratic Party's main source of support
The people that Democrats claimed were unfairly becoming rich
The people most interested in a return to a simple agrarian republic
One of the groups in favor of Andrew Jackson's presidency
4. 若是A-B-C, 或A: B，单词在B中，（1）则读本句后选择答案。

例题4：
Paragraph 6：As these experiments show, begging apparently provides a signal of need that parents use to make judgments about which offspring can benefit most from a feeding. But the question arises, why don't nestlings beg loudly when they aren't all that hungry? By doing so, they could possibly secure more food, which should result in more rapid growth or larger size, either of which is advantageous. The answer lies apparently not in the increased energy costs of exaggerated begging—such energy costs are small relative to the potential gain in calories— but rather in the damage that any successful cheater would do to its siblings, which share genes with one another. An individual's success in propagating his or her genes can be affected by more than just his or her own personal reproductive success. Because close relatives have many of the same genes, animals that harm their close relatives may in effect be destroying some of their own genes. Therefore, a begging nestling that secures food at the expense of its siblings might actually leave behind fewer copies of its genes overall than it might otherwise.
In paragraph 6, the author compares the energy costs of vigorous begging with the potential gain in calories from such begging in order to

explain why begging for food vigorously can lead to faster growth and increased size. 
explain how begging vigorously can increase an individual’s chance of propagating its own genes。
point out a weakness in a possible explanation for why nestlings do not always beg vigorously
argue that the benefits of vigorous begging outweigh any possible disadvantages
5. 判断该句是D还是TS:若是TS，读本句即可。
例题5：
Paragraph 4：There is still no universally agreed-on explanation for why there should be such a dramatic cessation of tree growth at the upper timberline. Various environmental factors may play a role. Too much snow, for example, can smother trees, and avalanches and snow creep can damage or destroy them. Late-lying snow reduces the effective growing season to the point where seedlings cannot establish themselves. Wind velocity also increases with altitude and may cause serious stress for trees, as is made evident by the deformed shapes at high altitudes. Some scientists have proposed that the presence of increasing levels of ultraviolet light with elevation may play a role, while browsing and grazing animals like the ibex may be another contributing factor. Probably the most important environmental factor is temperature, for if the growing season is too short and temperatures are too low, tree shoots and buds cannot mature sufficiently to survive the winter months.

In paragraph 4, what is the author’s main purpose in the discussion of the dramatic cessation of tree growth at the upper timberline?
To argue that none of several environment factors that are believed to contribute to that phenomenon do in fact play a role in causing it.
To argue in support of one particular explanation of that phenomenon against several competing explanations.
To explain why the primary environmental factor responsible for that phenomenon has not yet been identified.
To present several environmental factors that may contribute to a satisfactory explanation of that phenomenon.
例题6
Paragraph 3： Scholars offer three related but different opinions about the mysterious origin and significance of these paintings. One opinion is that the paintings were a record of seasonal migrations made by herds. Because some paintings were made directly over others, obliterating them, it is probable that a painting’s value ended with the migration it pictured. Unfortunately, this explanation fails to explain the hidden locations, unless the migrations were celebrated with secret ceremonies.
Why does the author mention secret ceremonies?
To present a common opinion held by many scholars 

To suggest a similarity between two opinions held by scholars 
To suggest a possible explanation for a weakness in an opinion expressed in the passage 
To give evidence that contradicts a major opinion expressed in the passage 

6. Dn1(±Dn2)(Dn; D1(±D2)(TS/Conclusion
例题7：
Paragraph 2: If an impact is large enough, it can disturb the environment of the entire Earth and cause an ecological catastrophe. The best-documented such impact took place 65 million years ago at the end of the Cretaceous period of geological history. This break in Earth's history is marked by a mass extinction, when as many as half the species on the planet became extinct. While there are a dozen or more mass extinctions in the geological record, the Cretaceous mass extinction has always intrigued paleontologists because it marks the end of the age of the dinosaurs. For tens of millions of years, those great creatures had flourished. Then, suddenly, they disappeared.
In paragraph 2, why does the author include the information that dinosaurs had flourished for tens of millions of years and then suddenly disappeared?

To support the claim that the mass extinction at the end of the Cretaceous is the best-documented of the dozen or so mass extinctions in the geological record

To explain why as many as half of the species on Earth at the time are believed to have become extinct at the end of the Cretaceous

To explain why paleontologists have always been intrigued by the mass extinction at the end of the Cretaceous

To provide evidence that an impact can be large enough to disturb the environment of the entire planet and cause an ecological disaster

例题8：
Paragraph 3: The first wells were drilled into the Ogallala during the drought years of the early 1930’s. The ensuing rapid expansion of irrigation agriculture, especially from the 1950’s onward, transformed the economy of the region. More than 100,000 wells now tap the Ogallala. Modern irrigation devices, each capable of spraying 4.5 million liters of water a day, have produced a landscape dominated by geometric patterns of circular green islands of crops. Ogallala water has enabled the High Plains region to supply significant amounts of the cotton, sorghum, wheat, and corn grown in the United States. In addition, 40 percent of American grain-fed beef cattle are fattened here.
In paragraph 3, why does the author provide the information that 40 percent of American cattle are fattened in the High Plains?
To suggest that crop cultivation is not the most important part of the economy of the High Plains
To indicate that not all economic activity in the High Plains is dependent on irrigation 

To provide another example of how water from the Ogallala has transformed the economy of the High Plains
To contrast cattle-fattening practices in the High Plains with those used in other region of the United States
例题9：
Paragraph 2： One of the most puzzling aspects of the paintings is their location. Other rock paintings—for example, those of Bushmen in South Africa—are either located near cave entrances or completely in the open. Cave paintings in France and Spain, however, are in recesses and caverns far removed from original cave entrances. This means that artists were forced to work in cramped spaces and without sources of natural light. It also implies that whoever made them did not want them to be easily found. Since cave dwellers normally lived close to entrances, there must have been some reason why so many generations of Lascaux cave dwellers hid their art.
Why does the author mention Bushmen in South Africa in paragraph 2?
To suggest that ancient artists from all over the world painted animals on rocks 
To contrast the location of their rock paintings to those found at Lascaux 
To support the claim that early artists worked in cramped spaces 
To give an example of other artists who painted in hidden locations 

例题10:
Paragraph4: Contrary to the arguments of some that much of the pacific was settled by Polynesians accidentally marooned after being lost and adrift, it seems reasonable that this feat was accomplished by deliberate colonization expeditions that set out fully stocked with food and domesticated plants and animals. Detailed studies of the winds and currents using computer simulations suggest that drifting canoes would have been a most unlikely means of colonizing the Pacific. These expeditions were likely driven by population growth and political dynamics on the home islands, as well as the challenge and excitement of exploring unknown waters. Because all Polynesians, Micronesians, and many Melanesians speak Austronesian languages and grow crops derived from Southeast Asia, all these peoples most certainly derived from that region and not the New World or elsewhere. The undisputed pre-Columbian presence in Oceania of the sweet potato, which is a New World domesticate, has sometimes been used to support Heyerdahl’s “American Indians in the Pacific” theories. However, this is one plant out of a long list of Southeast Asian domesticates. As Patrick Kirch, an American anthropologist, points out, rather than being brought by rafting South Americans, sweet potatoes might just have easily been brought back by returning Polynesian navigators who could have reached the west coast of South America.

Why does the author mention the views of “Patrick Kirch”?

To present evidence in favor of Heyerdahl’s idea about American Indians reaching Oceania 
To emphasize the familiarity of Pacific islanders with crops from many different regions of the world 
To indicate that supposed proof for Heyerdahl’s theory has an alternative explanation.

To demonstrate that some of the same crops were cultivated in both South America and Oceania.
7. 问段落作用：
例题11：
Paragraph 6：Moreover, getting petroleum out of the ground and from under the sea and to the consumer can create environmental problems anywhere along the line. Pipelines carrying oil can be broken by faults or landslides, causing serious oil spills. Spillage from huge oil-carrying cargo ships, called tankers, involved in collisions or accidental groundings (such as the one off Alaska in 1989) can create oil slicks at sea. Offshore platforms may also lose oil, creating oil slicks that drift ashore and foul the beaches, harming the environment. Sometimes, the ground at an oil field may subside as oil is removed. The Wilmington field near Long Beach, California, has subsided nine meters in 50 years; protective barriers have had to be built to prevent seawater from flooding the area. Finally, the refining and burning of petroleum and its products can cause air pollution. Advancing technology and strict laws, however, are helping control some of these adverse environmental effects. 

In paragraph 6, the author’s primary purpose is to 

Provide examples of how oil exploration can endanger the environment 

Describe accidents that have occurred when oil activities were in progress 

Give an analysis of the effects of oil spills on the environment 

Explain how technology and legislation help reduce oil spills 

例题12:
Paragraph 1—2：Petroleum, consisting of crude oil and natural gas, seems to originate from organic matter in marine sediment. Microscopic organisms settle to the seafloor and accumulate in marine mud. The organic matter may partially decompose, using up the dissolved oxygen in the sediment. As soon as the oxygen is gone, decay stops and the remaining organic matter is preserved. 

Continued sedimentation—the process of deposits' settling on the sea bottom—buries the organic matter and subjects it to higher temperatures and pressures, which convert the organic matter to oil and gas. As muddy sediments are pressed together, the gas and small droplets of oil may be squeezed out of the mud and may move into sandy layers nearby. Over long periods of time (millions of years), accumulations of gas and oil can collect in the sandy layers. Both oil and gas are less dense than water, so they generally tend to rise upward through water-saturated rock and sediment. 

In paragraphs 1 and 2, the author’s primary purpose is to 

Describe how petroleum is formed 

Explain why petroleum formation is a slow process 

Provide evidence that a marine environment is necessary for petroleum formation 

Show that oil commonly occurs in association with gas 

8. 难选出答案，看定位词是否为前文提供新解释。
例题13：
Paragraph 5 A third opinion takes psychological motivation much further into the realm of tribal ceremonies and mystery: the belief that certain animals assumed mythical significance as ancient ancestors or protectors of a given tribe or clan. Two types of images substantiate this theory: the strange, indecipherable geometric shapes that appear near some animals, and the few drawings of men. Wherever men appear they are crudely drawn and their bodies are elongated and rigid. Some men are in a prone position and some have bird or animal heads. Advocates for this opinion point to reports from people who have experienced a trance state, a highly suggestive state of low consciousness between waking and sleeping. Uniformly, these people experienced weightlessness and the sensation that their bodies were being stretched lengthwise. Advocates also point to people who believe that the forces of nature are inhabited by spirits, particularly shamans* who believe that an animal’s spirit and energy is transferred to them while in a trance. One Lascaux narrative picture, which shows a man with a birdlike head and a wounded animal, would seem to lend credence to this third opinion, but there is still much that remains unexplained. For example, where is the proof that the man in the picture is a shaman? He could as easily be a hunter wearing a headmask. Many tribal hunters, including some Native Americans, camouflaged themselves by wearing animal heads and hides.

According to paragraph 5, why do some scholars refer to a trance state to help understand the cave paintings?

To explain the state of consciousness the artists were in when they painted their pictures 

To demonstrate the mythical significance of the strange geometric shapes 

To indicate that trance states were often associated with activities that took place inside caves

To give a possible reason for the strange appearance of the men painted on the cave walls 

十二、插入题
（一）考察能力：关联句子能力，语法及逻辑关系（句间）
（二）特征：黑方块：█
（三）插入句子特点：  一定不是TS，但有可能是段内分论点Dn     
（四）常见线索词及解题原理：
1. 指代：指代词（it，they，this，these，other，another，such，the）向前指代。
   注意： 1. 注意之代词后紧跟的名词； 

2. this+v+XXX xxx前面必有对应！

3. 代词后紧跟内容，只要前句一出现，就放在该句之后！
2.逻辑

并列：  other，another                                                           

转折
(1) 时空转折:  old early ancient( late now modern current today; former latter; older/earlier later                                                                     
(2) 一般转折： however, but, whereas                                             
(3) 让步转折： although, even if/though, despite, while                               

· 运用并列或转折逻辑线索时
必须注意：  等引导词连接内容的对应方面叙述完毕，才可插入                       

因果：  thus，therefore，hence，so；原文只要构成因，果就可插入                   
3.总分关系：  总在前，分在后                                                       
1. 指代：指代词（it，they，this，these，other，another，such，the）必向前指代。
（1）THIS+V+XXX
例题1：
Impacts by meteorites represent one mechanism that could cause global catastrophes and seriously influence the evolution of life all over the planet. █According to some estimates, the majority of all extinctions of species may be due to such impacts. █Such a perspective fundamentally changes our view of biological evolution. █The standard criterion for the survival of a species is its success in competing with other species and adapting to slowly changing environments. █Yet an equally important criterion is the ability of a species to survive random global ecological catastrophes due to impacts. 

Look at the four squares [█] that indicate where the following sentence can be added to the passage.

This is the criterion emphasized by Darwin's theory of evolution by natural selection. 

Where would the sentence best fit?
例题2：
Above the tree line there is a zone that is generally called alpine tundra. █Immediately adjacent to the timberline, the tundra consists of a fairly complete cover of low-lying shrubs, herbs, and grasses, while higher up the number and diversity of species decrease until there is much bare ground with occasional mosses and lichens and some prostrate cushion plants.█ Some plants can even survive in favorable microhabitats above the snow line. The highest plants in the world occur at around 6,100 meters on Makalu in the Himalayas.█ At this great height, rocks, warmed by the sun, melt small snowdrifts.█
Look at the four squares [█] that indicate where the following sentence could be added to the passage.
This explains how, for example, alpine cushion plants have been found growing at an altitude of 6,180 meters.
Where would the sentence best fit? Click on a square to add the sentence to the passage
（2）This/The+n
例题3：
Their competition and collaboration were creating the broadcasting industry in the United States, beginning with the introduction of commercial radio programming in the early 1920s. █With financial assets considerably greater than those in the motion picture industry, and perhaps a wider vision of the relationships among entertainment and communications media, they revitalized research into recording sound for motion pictures. █In 1929 the United States motion picture industry released more than 300 sound films—a rough figure, since a number were silent films with music tracks, or films prepared in dual versions, to take account of the many cinemas not yet wired for sound. █At the production level, in the United States the conversion was virtually complete by 1930. █In Europe it took a little longer, mainly because there were more small producers for whom the costs of sound were prohibitive, and in other parts of the world problems with rights or access to equipment delayed the shift to sound production for a few more years (though cinemas in major cities may have been wired in order to play foreign sound films). The triumph of sound cinema was swift, complete, and enormously popular.

Look at the four squares [█] that indicate where the following sentence could be added to the passage.

When this research resulted in the development of vastly improved sound techniques, film studios became convinced of the importance of converting to sound.

Where would the sentence best fit?
例题4：
The differences in feeding preferences lead, in turn, to differences in migratory habits.█ The wildebeests follow, in their migration, the pattern of local rainfall. █ The other species do likewise. █ But when a new area is fueled by rain, the mammals migrate toward it in a set order to exploit it. █ The larger, less fastidious feeders, the zebras, move in first; the choosier, smaller wildebeests come later; and the smallest species of all, Thomson’s gazelle, arrives last. The later species all depend on the preparations of the earlier one, for the actions of the zebra alter the vegetation to suit the stomachs of the wildebeest, topi, and gazelle.

Look at the four squares [█] that indicate where the following sentence could be added to the passage.

The sequence in which they migrate correlates with their body size.

Where would the sentence best fit?

9. 逻辑

（1）并列
例题5：
What do you remember about your life before you were three? █Few people can remember anything that happened to them in their early years．█Adults' memories of the next few years also tend to be scanty．█Most people remember only a few events--usually ones that were meaningful and distinctive，such as being hospitalized or a sibling’s birth. █
Look at the four squares[█]that indicate where the following sentence could be added to the passage

Other important occasions are school graduations and weddings.

Where would the sentence best fit?
例题6：
The subjects of the paintings are mostly animals. The paintings rest on bare walls, with no backdrops or environmental trappings. Perhaps, like many contemporary peoples, Upper Paleolithic men and women believed that the drawing of a human image could cause death of injury, and if that were indeed their belief, it might explain why human figures are rarely depicted in cave art. Another explanation for the focus on animals might be that these people sought to improve their luck at hunting.█ This theory is suggested by evidence of chips in the painted figures, perhaps made by spears thrown at the drawings. █ But if improving their hunting luck was the chief motivation for the paintings, it is difficult to explain why only a few show signs of having been speared. █ Perhaps the paintings were inspired by the need to increase the supply of animals. Cave art seems to have reached a peak toward the end of the Upper Paleolithic period, when the herds of game were decreasing. █ 

Look at the four squares [█] that indicate where the following sentence could be added to the passage. 

Therefore, if the paintings were connected with hunting, some other explanation is needed. 

Where would the sentence best fit?

例题7：
Under very cold conditions, rocks can be shattered by ice and frost. Glaciers may form in permanently cold areas, and these slowly moving masses of ice cut out valleys, carrying with them huge quantities of eroded rock debris. █In dry areas the wind is the principal agent of erosion. █It carries fine particles of sand, which bombard exposed rock surfaces, thereby wearing them into yet more sand. █Even living things contribute to the formation of landscapes. █Tree roots force their way into cracks in rocks and, in so doing, speed their splitting. In contrast, the roots of grasses and other small plants may help to hold loose soil fragments together, thereby helping to prevent erosion by the wind.
Look at the four squares [█] that indicate where the following sentence could be added to the passage.
Under different climatic conditions, another type of destructive force contributes to erosion.
（2）转折

1　 时间转折later，older，former，latter，earlier，new，old
例题9：
Before 1815 manufacturing in the United States had been done in homes or shops by skilled artisans. █As master craft workers, they imparted the knowledge of their trades to apprentices and journeymen. █In addition, women often worked in their homes part-time, making finished articles from raw material supplied by merchant capitalists. █After 181 5 this older form of manufacturing began to give way to factories with machinery tended by unskilled or semiskilled laborers. █Cheap transportation networks, the rise of cities, and the availability of capital and credit all stimulated the shift to factory production.

Look at the four squares [█] that indicate where the following sentence can be added to the passage.

This new form of manufacturing depended on the movement of goods to distant locations and a centralized source of laborers.

Where would the sentence best fit?

例题10：
Speculation on the origin of these Pacific islanders began as soon as outsiders encountered them, in the absence of solid linguistic, archaeological, and biological data, many fanciful and mutually exclusive theories were devised. Pacific islanders were variously thought to have come from North America, South America, Egypt, Israel, and India, as well as Southeast Asia. █ Many older theories implicitly deprecated the navigational abilities and overall cultural creativity of the Pacific islanders. █ For example, British anthropologists G. Elliot Smith and W. J. Perry assumed that only Egyptians would have been skilled enough to navigate and colonize the Pacific. █ They inferred that the Egyptians even crossed the Pacific to found the great civilizations of the New World (North and South America). █ In 1947 Norwegian adventurer Thor Heyerdahl drifted on a balsa-log raft westward with the winds and currents across the Pacific from South America to prove his theory that Pacific islanders were Native Americans (also called American Indians). Later Heyerdahl suggested that the Pacific was peopled by three migrations: by Native Americans from the Pacific Northwest of North America drifting to Hawaii, by Peruvians drifting to Easter Island, and by Melanesians. In 1969 he crossed the Atlantic in an Egyptian style reed boat to prove Egyptian influences in the Americas. Contrary to these theorists, the overwhelming evidence of physical anthropology, linguistics, and archaeology shows that the Pacific islanders came from Southeast Asia and were skilled enough as navigators to sail against the prevailing winds and currents.

Look at the four squares [█] that indicate where the following sentence could be added to the passage.

Later theories concentrate on journeys in the other direction.

Where could the sentence best fit?

2　 一般转折：However，yet，other，even if/though
例题7：
█ Modern architectural forms generally have three separate components comparable to elements of the human body; a supporting skeleton or frame, an outer skin enclosing the interior spaces, equipment, similar to the body’s vital organs and systems. █ The equipment includes plumbing, electrical wiring, hot water, and air-conditioning. █Of course in early architecture—such as igloos and adobe structures—there was no such equipment, and the skeleton and skin were often one. █
Look at the four squares [█] that indicate where the following sentence could be added to the passage.
However, some modern architectural designs, such as those using folded plates of concreter or air-inflated structures, are again unifying skeleton and skin.
Where would the sentence best fit? Click on a square to add the sentence to the passage.

3　 让步转折
例题8：
It has long been accepted that the Americas were colonized by a migration of peoples from Asia, slowly traveling across a land bridge called Beringia (now the Bering Strait between northeastern Asia and Alaska) during the last Ice Age. █The first water craft theory about the migration was that around 11,000-12,000 years ago there was an ice-free corridor stretching from eastern Beringia to the areas of North America south of the great northern glaciers. It was the midcontinental corridor between two massive ice sheets-the Laurentide to the west-that enabled the southward migration. █But belief in this ice-free corridor began to crumble when paleoecologist Glen MacDonald demonstrated that some of the most important radiocarbon dates used to support the existence of an ice-free corridor were incorrect. █He persuasively argued that such an ice-free corridor did not exist until much later, when the continental ice began its final retreat. █
Look at the four squares [█] that indicate where the following sentence could be added to the passage.

Moreover, other evidence suggests that even if an ice-free corridor did exist, it would have lacked the resources needed for human colonization.
Where could the sentence best fit?
（3）因果：consequently，accordingly，so，therefore

例题11：Again, supersonic jets have similar features. 
█Because they are always swimming, tunas simply have to open their mouths and water is forced in and over their gills. █Accordingly, they have lost most of the muscles that other fishes use to suck in water and push it past the gills. █In fact, tunas must swim to breathe. █They must also keep swimming to keep from sinking, since most have largely or completely lost the swim bladder, the gas-filled sac that helps most other fish remain buoyant. 

Look at the four squares [█l that indicate where the following sentence can be added to the passage. 

Consequently, tunas do not need to suck in water. 

Where could the sentence best fit?

例题12：
Ir has not been common at Earth’s since the very beginning of the planet’s history. Because it usually exists in a metallic state, it was preferentially incorporated in Earth’s core as the planet cooled and consolidated. lr is found in high concentrations in some meteorites, in which the solar system’s original chemical composition is preserved. Even today, microscopic meteorites continually bombard Earth, falling on both land and sea. By measuring how many of these meteorites fall to Earth over a given period of time, scientists can estimate how long it might have taken to deposit the observed amount of lr in the boundary clay. █These calculations suggest that a period of about one million years would have been required. █However, other reliable evidence suggests that the deposition of the boundary clay could not have taken one million years. █So the unusually high concentration of lr seems to require a special explanation. █

Look at the four squares [█] that indicate where the following sentence could be added to the passage.

Consequently, the idea that the lr in the boundary clay came from microscopic meteorites cannot be accepted.

Where could the sentence best fit?

3. 总分：

例题14：

One interpretation regarding the absence of fossils during this important 100-million-year period is that early animals were soft bodied and simply did not fossilize. █ Fossilization of soft-bodied animals is less likely than fossilization of hard-bodied animals, but it does occur. █ Conditions that promote fossilization of soft-bodied animals include very rapid covering by sediments that create an environment that discourages decomposition.█ In fact, fossil beds containing soft-bodied animals have been known for many years. █

Look at the four squares [█] that indicate where the following sentence could be added to the passage.

It is relatively rare because the fossilization of soft-bodied animals requires a special environment.
Where could the sentence best fit?

例题15：
█Although origin in ritual has long been the most popular, it is by no means the only theory about how the theater came into being.█ Storytelling has been proposed as one alternative. █Under this theory, relating and listening to stories are seen as fundamental human pleasures.█ Thus, the recalling of an event (a hunt, battle, or other feat) is elaborated through the narrator’s pantomime and impersonation and eventually through each role being assumed by a different person.
Look at the four squares [█] that indicate where the following sentence could be added to the passage.
To enhance their listener’s enjoyment, storytellers continually make their stories more engaging and memorable.
Where would the sentence best fit? Click on a square to add the sentence to the passage.

例题16：
█Ecologists are especially interested to know what factors contribute to the resilience of communities because climax communities all over the world are being severely damaged or destroyed by human activities. █The destruction caused by the volcanic explosion of Mount St. Helens, in the northwestern United States, for example, pales in comparison to the destruction caused by humans. █We need to know what aspects of a community are most important to the community’s resistance to destruction, as well as its recovery. █
Look at the four squares [█] that indicate where the following sentence could be added to the passage.
In fact, damage to the environment by humans is often much more severe than damage by natural events and processes.
Where would the sentence best fit? Click on a square to add the sentence to the passage.

例题17：
Paragraph 6 The diffusion of agriculture and later of iron was accompanied by a great movement of people who may have carried these innovations. These people probably originated in eastern Nigeria. █Their migration may have been set in motion by an increase in population caused by a movement of peoples fleeing the desiccation, or drying up, of the Sahara. █They spoke a language, prior-Bantu (“Bantu” means “the people”), which is the parent tongue of a language of a large number of Bantu languages still spoken throughout sub-Sahara Africa. Why and how these people spread out into central and southern Africa remains a mystery, but archaeologists believe that their iron weapons allowed them to conquer their hunting-gathering opponents, who still used stone implements. █Still, the process is uncertain, and peaceful migration—or simply rapid demographic growth—may have also caused the Bantu explosion. █

Look at the four squares █ that indicate where the following sentence could be added to the passage.

These people had a significant linguistic impact on the continent as well.

Where could the sentence best fit?

4. 跨段式：

（1）跨段非过渡

1　 These+n

例题19：
Regularly flowing rivers and streams that originate within arid lands are known as "endogenous." These are generally fed by groundwater springs, and many issue from limestone massifs, such as the Atlas Mountains in Morocco. Basaltic rocks also support springs, notably at the Jabal Al-Arab on the Jordan-Syria border. █Endogenous Rivers often do not reach the sea but drain into inland basins, where the water evaporates or is lost in the ground. █Most desert streambeds are normally dry, but they occasionally receive large flows of water and sediment.█
Deserts contain large amounts of groundwater when compared to the amounts they hold in surface stores such as lakes and rivers. █But only a small fraction of groundwater enters the hydrological cycle-feeding the flows of streams, maintaining lake levels, and being recharged (or refilled) through surface flows and rainwater. In recent years, groundwater has become an increasingly important source of freshwater for desert dwellers. The United Nations Environment Program me and the World Bank have funded attempts to survey the groundwater resources of arid lands and to develop appropriate extraction techniques. Such programs are much needed because in many arid lands there is only a vague idea of the extent of groundwater resources. It is known, however, that the distribution of groundwater is uneven, and that much of it lies at great depths.

Look at the four squares [█] that indicate where the following sentence could be added to the passage 

These sudden floods provide important water supplies but can also be highly destructive. 
Where would the sentence best fit?

2　 指代such
例题20：
Paragraph 5：Opportunists must constantly invade new areas to compensate for being displaced by more competitive species. Human landscapes of lawns, fields, or flowerbeds provide settings with bare soil and a lack of competitors that are perfect habitats for colonization by opportunists. █Hence, many of the strongly opportunistic plants are the common weeds of fields and gardens. █
Because each individual is short-lived, the population of an opportunist species is likely to be adversely affected by drought, bad winters, or floods. █If their population is tracked through time, it will be seen to be particularly unstable—soaring and plummeting in irregular cycles. █
Look at the four squares █ that indicate where the following sentence could be added to the passage.
Such episodic events will cause a population of dandelions, for example, to vary widely.
Where would the sentence best fit?
3 跨段+转折 

例题18：
The reaction of farmers to the inevitable depletion of the Ogallala varies. Many have been attempting to conserve water by irrigating less frequently or by switching to crops that require less water.█ Other, however, have adopted the philosophy that it is best to use the water while it is still economically profitable to do so and to concentrate on high-value crops such as cotton.█ The incentive of the farmers who wish to conserve water is reduced by their knowledge that many of their neighbors are profiting by using great amounts of water, and in the process are drawing down the entire region’s water supplies.█
In the face of the upcoming water supply crisis, a number of grandiose schemes have been developed to transport vast quantities of water by canal or pipeline from the Mississippi, the Missouri, or the Arkansas rivers. █Unfortunately, the cost of water obtained through any of these schemes would increase pumping costs at least tenfold, making the cost of irrigated agricultural products from the region uncompetitive on the national and international markets. Somewhat more promising have been recent experiments for releasing capillary water (water in the soil) above the water table by injecting compressed air into the ground. Even if this process proves successful, however, it would almost triple water costs. 
Look at the four squares [█] that indicate where the following sentence could be added to the passage.
But even if uncooperative farmers were to join in the conservation efforts, this would only delay the depletion of the aquifer.
Where would the sentence best fit? 
4 跨段过渡
例题21：
Helping this group of teachers to revise their thinking about classroom events became central. █This process took time and patience and effective trainers. █The researchers estimate that the initial training of the same teachers to view events objectively took between 20 and 30 hours, with the same number of hours again being required to practice the skills of reflection. 

█Wildman and Niles identify three principles that facilitate reflective practice in a teaching situation. █The first is support from administrators in an education system, enabling teachers to understand the requirements of reflective practice and how it relates to teaching students. The second is the availability of sufficient time and space. The teachers in the program described how they found it difficult to put aside the immediate demands of others in order to give themselves the time they needed to develop their reflective skills. The third is the development of a collaborative environment with support from other teachers. Support and encouragement were also required to help teachers in the program cope with aspects of their professional life with which they were not comfortable. Wildman and Niles make a summary comment: "Perhaps the most important thing we learned is the idea of the teacher-as-reflective-practitioner will not happen simply because it is a good or even compelling idea."
Look at the four squares [█] that indicate where the following sentence could be added to the passage.

However, changing teachers’ thinking about reflection will not succeed unless there is support for reflection in the teaching environment.
Where could the sentence best fit?
例题22：
Much of the water in a sample of water-saturated sediment or rock will drain from it if the sample is put in a suitable dry place.█ But some will remain, clinging to all solid surfaces.█ It is held there by the force of surface tension without which water would drain instantly from any wet surface, leaving it totally dry.█ The total volume of water in the saturated sample must therefore be thought of as consisting of water that can, and water that cannot, drain away.█ 
The relative amount of these two kinds of water varies greatly from one kind of rock or sediment to another, even though their porosities may be the same. What happens depends on pore size. If the pores are large, the water in them will exist as drops too heavy for surface tension to hold, and it will drain away; but if the pores are small enough, the water in them will exist as thin films, too light to overcome the force of surface tension holding them in place; then the water will be firmly held. 

Look at the four squares [█] that indicate where the following sentence could be added to the passage.
What, then, determines what proportion of the water stays and what proportion drains away?
Where would the sentence best fit? Click on a square to add the sentence to the passage.
十三、篇章结构：
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Body 段落注意：1. 段首是假设，或者疑问，将有CON出现
2. CON可能在本段段尾，也可能在下段的过渡部分 Swimming Machine P112/29 段6，7
3. TS句常与D1同段 Desert Formation P69/7段6；Aggression P90/18段2；
4. 并非都是1段叙述一个方面；常用某两段或3段叙述一个方面
5. TS可在上段段首、段中或段末，以段末最难 GREEN ICEBERG P361/65 段4,5,6
20 min 

第一种: 代表文章：Artisans And Industrialization; Swimming Machine; Geology and Landscape
	Background

	Thesis


	TS

	Detail


	TS

	Detail


	TS

	Detail


第二种: 代表文章: Origins of Cetaceans
	Background

	Thesis


	TS

	Detail

	Conclusion


	TS

	Detail

	Conclusion


	TS

	Detail

	Conclusion


第三种：代表文章：Early Cinema; The Expression of Emotions
	TS

	Detail


	TS

	Detail


	TS

	Detail


	TS

	Detail


第四种：Applied Arts and Fine Arts
	TS

	Detail

	Conclusion


	TS

	Detail


	Broaden

	Sum


第五种：Nineteenth-Century Politics In The United States; Desert Formation
	Background


	TS

	Detail


	TS

	Detail


	TS

	Detail


篇章结构讲解范文：Practice Set 6: swimming machines

                  Practice Set 1: The Origin of Cetaceans

十四、读文章方法

速读法：

1. 抓住文章前两段 统领全文 的句子（根据   T+介     判定）,同时注意句中 概述或抽象性 内容（名词复数，抽象形容词或副词，时间、否定的言外之意等）；若没有，则为 背景                                      

2. 找各段中符合  T+介  的 概述性  或 抽象性  句子，并确定与上段的段落关系：1. 同一方面（ 顺承或递进 ）2.不同方面（ 并列 ）3. 转折。略读细节解释或举例子内容；      

3. 未找到符合 T+介 的概述性内容，须 总结main idea并判断与上段及前文的段落关系。
4. 末段若无 明确TS或文章总结性内容 ，需仔细看，找核心内容                   
读：包含以下内容的概述性句子！

①转折词（转折后为重点，可忘掉转折前内容）；

②态度词（褒贬：precious，luckily，good，fail to，miss）；

③暗含作者要表达观点的词（in fact，indeed，undoubtedly，by no means）

④总结性动词（miss，conclude，analysis show，according to some estimates/calculations）

不读： 地点状语从句；非限定性从句；句子主干含有动作及事物具体描述、数字、人名(实验者)
典型形式：

①长并列：结构1：n1, n2, n3 & n4; 结构2：n such as n1, n2, n3 & n4.            

②让步转折：可直接跳过让步。Unlike rather                                        

③冒号/破折号/分号：前面内容看懂，后面不必再看； 分号前为否定，则分号后必读。 

④设问句：重点看！        TS   THESIS                                                  

读文章方法讲解范文：Practice Set 1: The Origin of Cetaceans

                    Practice Set 3: Early Cinema

                    Practice Test 3: Loie Fuller

十五、总结题 & 图表题

（一）总结题 & 表格题特征

1. 相同点：均为最后一道大题

2. 不同点：
	题型
	形式
	分值
	题干重点内容
	题目数量

	总结题
	6选3
	0-2 
	介绍句
	2-3

	图表题
	7选5；9选7
	0-3；0-4
	2组或3组短语
	0-1


（二）总结题

1. 选项特征

正确选项特征：1. 概述全文
               2. 一段或某几段概述内容，或隐含内容！
错误选项特征：1. 背景或某段中细节
               2. 与原文矛盾
               3. 原文未提及
               4. 原文提及但表述错误或与介绍句无关
               5. 虽为某段主要内容，但被其他选项概括

2. 总结题解法：

※介绍句分析：1. 绝大部分为文章主题
              2. 少数是对Topic下定义
※最重要的解题指南针：精读介绍句并筛选关键词：n. v. adj. +topic
2.1 常规解法：回顾原文，把握文章脉络结构，根据凹凸慢读法读到内容进行解题

总结题常规解法范例：Practice set 1: The Origin of Cetaceans

                    Practice Set 3: Early Cinema

                    Practice Test 3: Loie Fuller

总结题常规解法练习：

Practice Test 1: Nineteenth-Century Politics In the United States

Practice Set 2: Desert Formation

Practice Test 1: The Expression Of Emotions

2.2非常规解法：

（1） 排除法：1. 与介绍句不相干或矛盾选项；

             2. 排除被其他选项概括的选项

             3. 排除带有数字选项(时间年代除外)

             4. 排出小细节（某段或某两段大举例不可排出）

（2） 直选法：选择3个较长句子（长句表述完整，成为概述性句子的可能较大）

非常规解法讲解：

Practice set 1: The Origin of Cetaceans

Practice Set 2: Desert Formation

Practice Set 3: Early Cinema

Practice Test 1: Nineteenth-Century Politics In the United States

非常规解法练习：

例题1：THE ORIGINS OF THEATER

Anthropologists have developed many theories to help understand why and how theater originated.
●

●

●

Answer choices
1. The presence of theater in almost all societies is thought to have occurred because early story tellers traveled to different groups to tell their stores.
2. Many theorists believe that theater arises when societies act out myths to preserve social well-being.
3. The more sophisticated societies became, the better they could influence desirable occurrences through ritualized theater.
4. Some theories of theater development focus on how theater was used by group leaders to govern other members of society.
5. Theater may have come from pleasure humans receive from storytelling and moving rhythmically.
6. The human capacities for imitation and fantasy are considered possible reasons why societies develop theater.

例题2：Depletion of the Ogallala Aquifer

The Ogallala is a large underground source of water in the High Plains region of the United States.
●

●

●

Answer choices
1. The use of the Ogallala for irrigation has allowed the High Plains to become one of the most productive agricultural regions in the United States.
2. Given the aquifer’s low recharge rate, its use for irrigation is causing water tables to drop and will eventually lead to its depletion.
3. Releasing capillary water and introducing drought-resistant crops are less-promising solutions to the water supply crisis than bringing in river water
4. The periodic deepening of wells and the use of more-powerful pumps would help increase the natural recharge rate of the Ogallala.
5. In Texas, a great deal of attention is being paid to genetic engineering because it is there that the most critical situation exists.
6. Several solutions to the upcoming water supply crisis have been proposed, but none of them promises to keep the costs of irrigation low.
例题3：GROUNDWATER

Much of the ground is actually saturated with water.
●

●

●

Answer choices
1. Sediments that hold water were spread by glaciers and are still spread by rivers and streams.
2. Water is stored underground in beds of loose sand and gravel or in cemented sediment.
3. The size of a saturated rock’s pores determines how much water it will retain when the rock is put in a dry place.
4. Groundwater often remains underground for a long time before it emerges again.
5. Like sandstone, basalt is a crystalline rock that is very porous.
6. Beds of unconsolidated sediments are typically located at inland sites that were once underwater.

例题4：TIMBERLINE VEGETATION ON MOUNTAINS

At the timberline, whether upper or lower, there is a profound change in the growth of trees and other plants.
●

●

●

Answer choices
1. Birch is one of the few species of tree that can survive in the extreme environments of the upper timberline.
2. There is no agreement among scientists as to exactly why plant growth is sharply different above and below the upper timberline.
3. The temperature at the upper timberline is probably more important in preventing tree growth than factors such as the amount of snowfall or the force of winds.
4. The geographical location of an upper timberline has an impact on both the types of trees found there and their physical characteristics.
5. High levels of ultraviolet light most likely play a greater role in determining tree growth at the upper timberline than do grazing animals such as the ibex.
6. Despite being adjacent to the timberline, the alpine tundra is an area where certain kinds of low trees can endure high winds and very low temperatures.

（三）图表题

1. 选项特征：

正确选项特征：明确与引导词对应的内容

注意：正确答案可能是某段概述内容，也可能是段中细节内容

错误选项特征：1. 与引导词不对应的内容
              2. 原文未提及或矛盾

2. 图表题解法：

1. 做完小题最后做图表题，无法确定则判断引导词所在区间，回原文找对应

2. 注意事项：正确对应！选对了，填反了
图表题讲解：Practice Set 6：Swimming Machine（选细节）

            Practice Set 4：Aggression（选观点）

练      习：Practice Test 1：Geology and Landscape(选细节)

            Practice Set 5：Artisans And Industrialization

补充文章

Opportunists and Competitors

Growth, reproduction, and daily metabolism all require an organism to expend energy. The expenditure of energy is essentially a process of budgeting, just as finances are budgeted. If all of one’s money is spent on clothes, there may be none left to buy food or go to the movies. Similarly, a plant or animal cannot squander all its energy on growing a big body if none would be left over for reproduction, for this is the surest way to extinction.

All organisms, therefore, allocate energy to growth, reproduction, maintenance, and storage. No choice is involved; this allocation comes as part of the genetic package from the parents. Maintenance for a given body design of an organism is relatively constant. Storage is important, but ultimately that energy will be used for maintenance, reproduction, or growth. Therefore the principal differences in energy allocation are likely to be between growth and reproduction.

[Almost all of an organism’s energy can be diverted to reproduction, with very little allocated to building the body. Organisms at this extreme are “opportunists.”] [At the other extreme are “competitors,” almost all of whose resources are invested in building a huge body, with a bare minimum allocated to reproduction.]
[Dandelions are good examples of opportunists.]Their seed heads raised just high enough above the ground to catch the wind, the plants are no bigger than they need be, their stems are hollow, and all the rigidity comes from their water content. Thus, a minimum investment has been made in the body that becomes a platform for seed dispersal. These very short-lived plants reproduce prolifically; that is to say they provide a constant rain of seed in the neighborhood of parent plants. A new plant will spring up wherever a seed falls on a suitable soil surface, but because they do not build big bodies, they cannot compete with other plants for space, water, or sunlight. These plants are termed opportunists because they rely on their seeds’ falling into settings where competing plants have been removed by natural processes, such as along an eroding riverbank, on landslips, or where a tree falls and creates a gap in the forest canopy.

[Opportunists must constantly invade new areas to compensate for being displaced by more competitive species.] Human landscapes of lawns, fields, or flowerbeds provide settings with bare soil and a lack of competitors that are perfect habitats for colonization by opportunists. Hence, many of the strongly opportunistic plants are the common weeds of fields and gardens. 

[Because each individual is short-lived, the population of an opportunist species is likely to be adversely affected by drought, bad winters, or floods.] If their population is tracked through time, it will be seen to be particularly unstable—soaring and plummeting in irregular cycles. 

[The opposite of an opportunist is a competitor.][These organisms tend to have big bodies, are long-lived, and spend relatively little effort each year on reproduction.][An oak tree is a good example of a competitor.]A massive oak claims its ground for 200 years or more, outcompeting all other would-be canopy trees by casting a dense shade and drawing up any free water in the soil. The leaves of an oak tree taste foul because they are rich in tannins, a chemical that renders them distasteful or indigestible to many organisms. The tannins are part of the defense mechanism that is essential to longevity. Although oaks produce thousands of acorns, the investment in a crop of acorns is small compared with the energy spent on building leaves, trunk, and roots. Once an oak tree becomes established, it is likely to survive minor cycles of drought and even fire. A population of oaks is likely to be relatively stable through time, and its survival is likely to depend more on its ability to withstand the pressures of competition or predation than on its ability to take advantage of chance events. [It should be noted, however, that the pure opportunist or pure competitor is rare in nature, as most species fall between the extremes of a continuum, exhibiting a blend of some opportunistic and some competitive characteristics.]
Paragraph 1: Growth, reproduction, and daily metabolism all require an organism to expend energy. The expenditure of energy is essentially a process of budgeting, just as finances are budgeted. If all of one’s money is spent on clothes, there may be none left to buy food or go to the movies. Similarly, a plant or animal cannot squander all its energy on growing a big body if none would be left over for reproduction, for this is the surest way to extinction.
谓语动词判定，指代部分已讲

1. The word squander in the passage is closest in meaning to

○ Extend 

○Transform 

○ Activate 

○ Waste 

谓语动词判定，指代部分已讲

2. The word none in the passage refers to

○ Food 

○ Plant or animal 

○ Energy 

○ Big body 

3. In paragraph 1, the author explains the concept of energy expenditure by

○ Identifying types of organisms that became extinct 

○ Comparing the scientific concept to a familiar human experience 
○ Arguing that most organisms conserve rather than expend energy 
○ Describing the processes of growth, reproduction, and metabolism 
Paragraph 3：Almost all of an organism’s energy can be diverted to reproduction, with very little allocated to building the body. Organisms at this extreme are “opportunists.” At the other extreme are “competitors,” almost all of whose resources are invested in building a huge body, with a bare minimum allocated to reproduction.

无明确定位，3题在1段；5题在四段。本题为1+；读文章时3段出现topic；意群定位

4. According to the passage, the classification of organisms as “opportunists” or “competitors” is determined by
○ How the genetic information of an organism is stored and maintained 

○ The way in which the organism invests its energy resources 

○ Whether the climate in which the organism lives is mild or extreme 

○ The variety of natural resources the organism consumes in its environment 

Paragraph 4：Dandelions are good examples of opportunists. Their seed heads raised just high enough above the ground to catch the wind, the plants are no bigger than they need be, their stems are hollow, and all the rigidity comes from their water content. Thus, a minimum investment has been made in the body that becomes a platform for seed dispersal. These very short-lived plants reproduce prolifically; that is to say they provide a constant rain of seed in the neighborhood of parent plants. A new plant will spring up wherever a seed falls on a suitable soil surface, but because they do not build big bodies, they cannot compete with other plants for space, water, or sunlight. These plants are termed opportunists because they rely on their seeds’ falling into settings where competing plants have been removed by natural processes, such as along an eroding riverbank, on landslips, or where a tree falls and creates a gap in the forest canopy.
因果关系，有thus，往前看，描述种子为足够高以抓住风，为了被风带走。身体支撑种子，

5. The word dispersal in the passage is closest in meaning to

○Development 

○ Growth 

○ Distribution 

○ Protection 

逻辑因果

6. Which of the sentences below best expresses the essential information in the highlighted sentence in the passage? Incorrect choices change the meaning in important ways or leave out essential information.

○Because their seeds grow in places where competing plants are no longer present, dandelions are classified as opportunists. 
○Dandelions are called opportunists because they contribute to the natural processes of erosion and the creation of gaps in the forest canopy. 
○The term opportunists apply to plants whose seeds fall in places where they can compete with the seeds of other plants. 
○The term opportunists apply to plants whose falling seeds are removed by natural processes. 
Paragraph 7：The opposite of an opportunist is a competitor. These organisms tend to have big bodies, are long-lived, and spend relatively little effort each year on reproduction. An oak tree is a good example of a competitor. A massive oak claims its ground for 200 years or more, outcompeting all other would-be canopy trees by casting a dense shade and drawing up any free water in the soil. The leaves of an oak tree taste foul because they are rich in tannins, a chemical that renders them distasteful or indigestible to many organisms. The tannins are part of the defense mechanism that is essential to longevity. Although oaks produce thousands of acorns, the investment in a crop of acorns is small compared with the energy spent on building leaves, trunk, and roots. Once an oak tree becomes established, it is likely to survive minor cycles of drought and even fire. A population of oaks is likely to be relatively stable through time, and its survival is likely to depend more on its ability to withstand the pressures of competition or predation than on its ability to take advantage of chance events. It should be noted, however, that the pure opportunist or pure competitor is rare in nature, as most species fall between the extremes of a continuum, exhibiting a blend of some opportunistic and some competitive characteristics.

TS+D, 根据元素与集合关系：元素：big body，long-lived，little effort on reproduction

7. The word massive in the passage is closest in meaning to  1或2，但古老要有对比，1
○ Huge 

○ Ancient 

○ Common 

○ Successful 

8. All of the following are mentioned in paragraph 7 as contributing to the longevity of an oak tree EXCEPT

○ The capacity to create shade 

○ Leaves containing tannin 

○ The ability to withstand mild droughts and fire 

○ The large number of acorns the tree produces 
无明确段：8在段7，10在段7，本题在7（事实信息题定位部分）

9. According to the passage, oak trees are considered competitors because

○ They grow in areas free of opportunists 

○ They spend more energy on their leaves, trunks and roots than on their acorns 

○ Their population tends to increase or decrease in irregular cycles 

○ Unlike other organisms, they do not need much water or sunlight 

题干线索可定位，连同选项，根据选项方面回原文定位

10. In paragraph 7, the author suggests that most species of organisms

○ Are primarily opportunists 

○ Are primarily competitors 

○ Begin as opportunists and evolve into competitors 

○ Have some characteristics of opportunists and some of competitors 

Paragraph 5：Opportunists must constantly invade new areas to compensate for being displaced by more competitive species. Human landscapes of lawns, fields, or flowerbeds provide settings with bare soil and a lack of competitors that are perfect habitats for colonization by opportunists. █Hence, many of the strongly opportunistic plants are the common weeds of fields and gardens. █

Because each individual is short-lived, the population of an opportunist species is likely to be adversely affected by drought, bad winters, or floods. █If their population is tracked through time, it will be seen to be particularly unstable—soaring and plummeting in irregular cycles. █

指代题部分，such+N前文必出现

11. Look at the four squares █ that indicate where the following sentence could be added to the passage.
Such episodic events will cause a population of dandelions, for example, to vary widely.
Where would the sentence best fit?

Click on a square [■] to add the sentence to the passage.
12. Directions: Complete the table by matching the phrases below

Directions: Select the appropriate phrases from the answer choices and match them to the type of organism to which they relate. TWO of the answer choices will NOT be used. This question is worth 4 points.

Drag your answer choices to the spaces where they belong. To remove an answer choice, click on it. To review the passage, click on View Text.
	Opportunists
	Competitors
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Answer Choices

1. Vary frequently the amount of energy they spend in body maintenance

2. Have mechanisms for protecting themselves from predation

3. Succeed in locations where other organisms have been removed

4. Have relatively short life spans

5. Invest energy in the growth of large, strong structures

6. Have populations that are unstable in response to climate conditions

7. Can rarely find suitable soil for reproduction

8. Produce individuals that can withstand changes in the environmental conditions

9. Reproduce in large numbers

SYMBIOTIC RELATIONSHIPS 

[A symbiotic relationship is an interaction between two or more species in which one species lives in or on another species.][There are three main types of symbiotic relationships: parasitism, commensalism, and mutualism.][The first and the third can be key factors in the structure of a biological community; that is, all the populations of organisms living together and potentially interacting in a particular area.] 

[Parasitism is a kind of predator-prey relationship in which one organism, the parasite, derives its food at the expense of its symbiotic associate, the host.][Parasites are usually smaller than their hosts.]An example of a parasite is a tapeworm that lives inside the intestines of a larger animal and absorbs nutrients from its host. [Natural selection favors the parasites that are best able to find and feed on hosts.][At the same time, defensive abilities of hosts are also selected for.]As an example, plants make chemicals toxic to fungal and bacterial parasites, along with ones toxic to predatory animals (sometimes they are the same chemicals). In vertebrates, the immune system provides a multiple defense against internal parasites. 

[At times, it is actually possible to watch the effects of natural selection in host-parasite relationships.]For example, Australia during the 1940 s was overrun by hundreds of millions of European rabbits. The rabbits destroyed huge expanses of Australia and threatened the sheep and cattle industries. In 1950, myxoma virus, a parasite that affects rabbits, was deliberately introduced into Australia to control the rabbit population. Spread rapidly by mosquitoes, the virus devastated the rabbit population. The virus was less deadly to the offspring of surviving rabbits, however, and it caused less and less harm over the years. Apparently, genotypes (the genetic make-up of an organism) in the rabbit population were selected that were better able to resist the parasite. Meanwhile, the deadliest strains of the virus perished with their hosts as natural selection favored strains that could infect hosts but not kill them. [Thus, natural selection stabilized this host-parasite relationship.] 

[In contrast to parasitism, in commensalism, one partner benefits without significantly affecting the other.][Few cases of absolute commensalism probably exist, because it is unlikely that one of the partners will be completely unaffected.] [Commensal associations sometimes involve one species' obtaining food that is inadvertently exposed by another.] For instance, several kinds of birds feed on insects flushed out of the grass by grazing cattle. It is difficult to imagine how this could affect the cattle, but the relationship may help or hinder them in some way not yet recognized. 

[The third type of symbiosis, mutualism, benefits both partners in the relation- ship.]Legume plants and their nitrogen-fixing bacteria, and the interactions between flowering plants and their pollinators, are examples of mutualistic association. In the first case, the plants provide the bacteria with carbohydrates and other organic compounds, and the bacteria have enzymes that act as catalysts that eventually add nitrogen to the soil, enriching it. In the second case, pollinators (insects, birds) obtain food from the flowering plant, and the plant has its pollen distributed and seeds dispersed much more efficiently than they would be if they were carried by the wind only. Another example of mutualism would be the bull's horn acacia tree, which grows in Central and South America. The tree provides a place to live for ants of the genus Pseudomyrmex. The ants live in large, hollow thorns and eat sugar secreted by the tree. The ants also eat yellow structures at the tip of leaflets: these are protein rich and seem to have no function for the tree except to attract ants. The ants benefit the host tree by attacking virtually anything that touches it. They sting other insects and large herbivores (animals that eat only plants) and even clip surrounding vegetation that grows near the tree. When the ants are removed, the trees usually die, probably because herbivores damage them so much that they are unable to compete with surrounding vegetation for light and growing space. 

[The complex interplay of species in symbiotic relationships highlights an important point about communities: Their structure depends on a web of diverse connections among organisms.] 

Paragraph 1: A symbiotic relationship is an interaction between two or more species in which one species lives in or on another species. There are three main types of symbiotic relationships: parasitism, commensalism, and mutualism. The first and the third can be key factors in the structure of a biological community; that is, all the populations of organisms living together and potentially interacting in a particular area. 
事物对比

    1. Which of the following statements about commensalism can be inferred from paragraph 1?  
○ It excludes interactions between more than two species. 
○ It makes it less likely for species within a community, to survive. 

○ Its significance to the organization of biological communities is small. 

○ Its role in the structure of biological populations is a disruptive one. 

Paragraph 2: Parasitism is a kind of predator-prey relationship in which one organism, the parasite, derives its food at the expense of its symbiotic associate, the host. Parasites are usually smaller than their hosts. An example of a parasite is a tapeworm that lives inside the intestines of a larger animal and absorbs nutrients from its host. Natural selection favors the parasites that are best able to find and feed on hosts. At the same time, defensive abilities of hosts are also selected for. As an example, plants make chemicals toxic to fungal and bacterial parasites, along with ones toxic to predatory animals (sometimes they are the same chemicals). In vertebrates, the immune system provides a multiple defense against internal parasites. TS+D：XX食物，花费或损害它的共生伙伴，寄主；选不出，看D
    2. The word derives in the passage is closest in meaning to 

○ digests 

○ obtains 
○ controls 

○ discovers 

明确定位

    3. According to paragraph 2, which of the following is true of the action of natural selection on hosts and parasites? 

○ Hosts benefit more from natural selection than parasites do. 

○ Both aggression in predators and defensive capacities in hosts are favored for species survival. 
○ The ability to make toxic chemicals enables a parasite to find and isolate its host. 

○ Larger size equips a parasite to prey on smaller host organisms. 

Paragraph 3: At times, it is actually possible to watch the effects of natural selection in host-parasite relationships. For example, Australia during the 1940 s was overrun蔓延 by hundreds of millions of European rabbits. The rabbits destroyed huge expanses of Australia and threatened the sheep and cattle industries. In 1950, myxoma virus, a parasite that affects rabbits, was deliberately introduced into Australia to control the rabbit population. Spread rapidly by mosquitoes, the virus devastated the rabbit population. The virus was less deadly to the offspring of surviving rabbits, however, and it caused less and less harm over the years. Apparently, genotypes (the genetic make-up of an organism) in the rabbit population were selected that were better able to resist the parasite. Meanwhile, the deadliest strains of the virus perished with their hosts as natural selection favored strains that could infect hosts but not kill them. Thus, natural selection stabilized this host-parasite relationship. 

根据上一句下一句内容可选

    4. The word devastated in the passage is closest in meaning to 

○ influenced 

○ infected 

○ strengthened 

○ destroyed 

推断题：概述段落大意题
    5. Which of the following can be concluded from the discussion in paragraph 3 about the Australian rabbit population?  
○ Human intervention may alter the host, the parasite, and the relationship between them. Deliberately表是人类干的
○ The risks of introducing outside organisms into a biological community are not worth the benefits. 兔子对其他动物造成影响，当virus进入后对其他动物的结果怎么样没说。
○ Humans should not interfere in host-parasite relationships. 应不应该没表述
○ Organisms that survive a parasitic attack do so in spite of the natural selection process. 

尽管在自然选择的过程中，其他生物是不是这么做的不知道

    6. According to paragraph 3, all of the following characterize the way natural selection stabilized the Australian rabbit population EXCEPT: 

○ The most toxic viruses died with their hosts. 
○ The surviving rabbits were increasingly immune to the virus. 

○ The decline of the mosquito population caused the spread of the virus to decline. 

○ Rabbits with specific genetic make-ups were favored. 

Paragraph 4: In contrast to parasitism, in commensalism, one partner benefits without significantly affecting the other. Few cases of absolute commensalism probably exist, because it is unlikely that one of the partners will be completely unaffected. Commensal associations sometimes involve one species' obtaining food that is inadvertently exposed by another. For instance, several kinds of birds feed on insects flushed out of the grass by grazing cattle. It is difficult to imagine how this could affect the cattle, but the relationship may help or hinder them in some way not yet recognized. 

TS+D可解，牛吃完草，鸟得到虫子

    7. The word inadvertently in the passage is closest in meaning to 

○ indefensibly 

○ substantially 

○ unintentionally 

○ partially 

Paragraph 5: The third type of symbiosis, mutualism, benefits both partners in the relationship Legume plants and their nitrogen-fixing bacteria, and the interactions between flowering plants and their pollinators, are examples of mutualistic association. In the first case, the plants provide the bacteria with carbohydrates and other organic compounds, and the bacteria have enzymes that act as catalysts that eventually add nitrogen to the soil, enriching it. In the second case, pollinators (insects, birds) obtain food from the flowering plant, and the plant has its pollen distributed and seeds dispersed much more efficiently than they would be if they were carried by the wind only. Another example of mutualism would be the bull's horn acacia tree, which grows in Central and South America. The tree provides a place to live for ants of the genus Pseudomyrmex. The ants live in large, hollow thorns and eat sugar secreted by the tree. The ants also eat yellow structures at the tip of leaflets: these are protein rich and seem to have no function for the tree except to attract ants. The ants benefit the host tree by attacking virtually anything that touches it. They sting other insects and large herbivores (animals that eat only plants) and even clip surrounding vegetation that grows near the tree. When the ants are removed, the trees usually die, probably because herbivores damage them so much that they are unable to compete with surrounding vegetation for light and growing space. 

    8. According to paragraph 5, the relationship between legumes and bacteria benefits the soil by 

○ adding enriching carbohydrates 

○ speeding the decay of organic matter 

○ destroying enzymes that pollute it 

○ contributing nitrogen to it 

比较被概述即可，看主句意思

    9. Which of the sentences below best expresses the essential information in the highlighted sentence in the passage? Incorrect choices change the meaning in important ways or leave out essential information 

○ The relationship between flowering plants and pollinators provides pollinators with food and flowers with efficient reproduction. 

○ In some cases birds obtain food from the seeds that are dispersed in the wind. 

○ The wind not only helps the flowers distribute their seeds but enables birds to find more food. 

○ Animals and insects are more effective in distributing pollen and seeds than the wind. 

一段式明确定位

    10. According to paragraph 5, which of the following is NOT true of the relationship between the bull's horn acacia tree and the Pseudomyrmex ants? 

○ Ants defend the host trees against the predatory actions of insects and animals. 

○ The acacia trees are a valuable source of nutrition for the ants. 

○ The ants enable the acacia tree to produce its own chemical defenses. 

○ The ants protect the acacia from having to compete with surrounding vegetation. 

Paragraph 6: The complex interplay of species in symbiotic relationships highlights an important point about communities: Their structure depends on a web of diverse connections among organisms. 

词根词缀

    11. The word highlights in the passage is closest in meaning to 

○ defines 

○ emphasizes 

○ reflects 

○ suggests 

    12. What is the main purpose of this passage? 

○ To explain the concept of symbiosis by expanded descriptions of its principal types 

○ To make a comparison between human relationships and symbiotic interactions in the natural world 

○ To demonstrate the unforeseen benefits of natural processes that at first seem wholly destructive 

○ To argue that parasitism is a problem that can be solved by scientific intervention 

Paragraph 3: At times, it is actually possible to watch the effects of natural selection in host-parasite relationships. For example, Australia during the 1940 s was overrun by hundreds of millions of European rabbits.■ The rabbits destroyed huge expanses of Australia and threatened the sheep and cattle industries. ■ In 1950, myxoma virus, a parasite that affects rabbits, was deliberately introduced into Australia to control the rabbit population. ■ Spread rapidly by mosquitoes, the virus devastated the rabbit population. ■ The virus was less deadly to the offspring of surviving rabbits, however, and it caused less and less harm over the years. Apparently, genotypes (the genetic make-up of an organism) in the rabbit population were selected that were better able to resist the parasite. Meanwhile, the deadliest strains of the virus perished with their hosts as natural selection favored strains that could infect hosts but not kill them. Thus, natural selection stabilized this host-parasite relationship. 

This+N前文必出现

13. Look at the four squares [■] that indicate where the following sentence could be added to the passage. 

This massive population began a century earlier as a mere twelve pairs of imported rabbits that reproduced quickly and developed into a major problem. 

Where would the sentence best fit? 

14. Directions: An introductory sentence for a brief summary of the passage is provided below. Complete the summary by selecting the THREE answer choices that express the most important ideas in the passage. Some sentences do not belong in the summary because they express ideas that are not presented in the passage or are minor ideas in the passage. This question is worth 2 points. 

Symbiotic relationships involve the interaction of two or more organisms acting as partners. 

● 1
● 3
● 5
Answer Choices 

1. Parasitic relationships involve the interplay of aggression by the parasite and resistance and adaptation by the host. 

2. Mutualism ordinarily involves an interaction between two members of the same species. Same species没说
3. Mutualism is unique among symbiotic relationships in that it benefits both partners involved in the relationship. 

4. Parasitic damage to Australian rabbits was never reversed because the rabbits were unable to adapt to the parasites' attacks. 细节
5. The rarity of commensal relationships stems from the difficulty of finding relationships that benefit one species without affecting the other. 

6. The structure of biological communities depends on the types of relationships that exist among the species within. 非文章主题，背景细节内容
Meteorite Impact and Dinosaur Extinction

[There is increasing evidence that the impacts of meteorites have had important effects on Earth, particularly in the field of biological evolution.]Such impacts continue to pose a natural hazard to life on Earth. Twice in the twentieth century, large meteorite objects are known to have collided with Earth.

[If an impact is large enough, it can disturb the environment of the entire Earth and cause an ecological catastrophe.][The best-documented such impact took place 65 million years ago at the end of the Cretaceous period of geological history.][This break in Earth's history is marked by a mass extinction, when as many as half the species on the planet became extinct.][While there are a dozen or more mass extinctions in the geological record, the Cretaceous mass extinction has always intrigued paleontologists because it marks the end of the age of the dinosaurs.]For tens of millions of years, those great creatures had flourished. Then, suddenly, they disappeared. 总括全文，紧扣TOPIC介绍句
[The body that impacted Earth at the end of the Cretaceous period was a meteorite with a mass of more than a trillion tons and a diameter of at least 10 kilometers.][Scientists first identified this impact in 1980 from the worldwide layer of sediment deposited from the dust cloud that enveloped the planet after the impact.] This sediment layer is enriched in the rare metal iridium and other elements that are relatively abundant in a meteorite but very rare in the crust of Earth. Even diluted by the terrestrial material excavated from the crater, this component of meteorites is easily identified. [By 1990 geologists had located the impact site itself in the Yucat region of Mexico.] The crater, now deeply buried in sediment, was originally about 200 kilometers in diameter.  只讲撞击被发现
[This impact released an enormous amount of energy, excavating a crater about twice as large as the lunar crater Tycho.] The explosion lifted about 100 trillion tons of dust into the atmosphere, as can be determined by measuring the thickness of the sediment layer formed when this dust settled to the surface. Such a quantity of material would have blocked the sunlight completely from reaching the surface, plunging Earth into a period of cold and darkness that lasted at least several months. The explosion is also calculated to have produced vast quantities of nitric acid and melted rock that sprayed out over much of Earth, starting widespread fires that must have consumed most terrestrial forests and grassland. [Presumably, those environmental disasters could have been responsible for the mass extinction, including the death of the dinosaurs.] 撞击很强大对环境破坏大；引出生物影响
[Several other mass extinctions in the geological record have been tentatively identified with large impacts, but none is so dramatic as the Cretaceous event.] [But even without such specific documentation, it is clear that impacts of this size do occur and that their results can be catastrophic.][What is a catastrophe for one group of living things, however, may create opportunities for another group.]Following each mass extinction, there is a sudden evolutionary burst as new species develop to fill the ecological niches opened by the event.

大过渡段落

[Impacts by meteorites represent one mechanism that could cause global catastrophes and seriously influence the evolution of life all over the planet.][According to some estimates, the majority of all extinctions of species may be due to such impacts.]Such a perspective fundamentally changes our view of biological evolution. The standard criterion for the survival of a species is its success in competing with other species and adapting to slowly changing environments. Yet an equally important criterion is the ability of a species to survive random global ecological catastrophes due to impacts. 
Earth is a target in a cosmic shooting gallery, subject to random violent events that were unsuspected a few decades ago. In 1991 the United States Congress asked NASA to investigate the hazard posed today by large impacts on Earth. [The group conducting the study concluded from a detailed analysis that impacts from meteorites can indeed be hazardous.][Although there is always some risk that a large impact could occur, careful study shows that this risk is quite small.]
共读362个字

Paragraph 1: There is increasing evidence that the impacts of meteorites have had important effects on Earth, particularly in the field of biological evolution. Such impacts continue to pose a natural hazard to life on Earth. Twice in the twentieth century, large meteorite objects are known to have collided with Earth.

词根词缀：Position，摆个pose；根据文意也可，impact，和对于地球的危险

1. The word pose in the passage is closest in the meaning to 
○ Claim
○ Model
○ Assume
○ Present
Paragraph 2: If an impact is large enough, it can disturb the environment of the entire Earth and cause an ecological catastrophe. The best-documented such impact took place 65 million years ago at the end of the Cretaceous period of geological history. This break in Earth's history is marked by a mass extinction, when as many as half the species on the planet became extinct. While there are a dozen or more mass extinctions in the geological record, the Cretaceous mass extinction has always intrigued paleontologists because it marks the end of the age of the dinosaurs. For tens of millions of years, those great creatures had flourished. Then, suddenly, they disappeared.

找概述性格TS+D（修辞目的题部分）

2. In paragraph 2, why does the author include the information that dinosaurs had flourished for tens of millions of years and then suddenly disappeared?

○ To support the claim that the mass extinction at the end of the Cretaceous is the best-documented of the dozen or so mass extinctions in the geological record

○ To explain why as many as half of the species on Earth at the time are believed to have become extinct at the end of the Cretaceous

○ To explain why paleontologists have always been intrigued by the mass extinction at the end of the Cretaceous

○ To provide evidence that an impact can be large enough to disturb the environment of the entire planet and cause an ecological disaster

Paragraph 3: The body that impacted Earth at the end of the Cretaceous period was a meteorite with a mass of more than a trillion tons and a diameter of at least 10 kilometers. Scientists first identified this impact in 1980 from the worldwide layer of sediment deposited from the dust cloud that enveloped the planet after the impact. This sediment layer is enriched in the rare metal iridium and other elements that are relatively abundant in a meteorite but very rare in the crust of Earth. Even diluted by the terrestrial material excavated from the crater, this component of meteorites is easily identified. By 1990 geologists had located the impact site itself in the Yucat region of Mexico. The crater, now deeply buried in sediment, was originally about 200 kilometers in diameter. 

  概述段落大意：段落归纳+时间转折
3. Which of the following can be inferred from paragraph 3 about the location of the meteorite impact in Mexico? 
○ The location of the impact site in Mexico was kept secret by geologists from 1980 to 1990.
○ It was a well-known fact that the impact had occurred in the Yucat region.

○ Geologists knew that there had been an impact before they knew where it had occurred.
○ The Yucat region was chosen by geologists as the most probable impact site because of its climate.
4. According to paragraph 3, how did scientists determine that a large meteorite had impacted Earth?

○ They discovered a large crater in the Yucat  region of Mexico.
○ They found a unique layer of sediment worldwide.
○ They were alerted by archaeologists who had been excavating in the Yucat  region.
○ They located a meteorite with a mass of over a trillion tons.

Paragraph 4: This impact released an enormous amount of energy, excavating a crater about twice as large as the lunar crater Tycho. The explosion lifted about 100 trillion tons of dust into the atmosphere, as can be determined by measuring the thickness of the sediment layer formed when this dust settled to the surface. Such a quantity of material would have blocked the sunlight completely from reaching the surface, plunging Earth into a period of cold and darkness that lasted at least several months. The explosion is also calculated to have produced vast quantities of nitric acid and melted rock that sprayed out over much of Earth, starting widespread fires that must have consumed most terrestrial forests and grassland. Presumably, those environmental disasters could have been responsible for the mass extinction, including the death of the dinosaurs.

5. The word excavating in the passage is closest in the meaning to 词根词缀：ex  cave

○ Digging out
○ Extending
○ Destroying

○ Covering up
6. The word consumed in the passage is closest in the meaning to 消费的同义词
○ Changed 
○ Exposed 
○ Destroyed
○ Covered
一段式明确段落

7. According to paragraph 4, all of the following statements are true of the impact at the end of the Cretaceous period EXCEPT:

○ A large amount of dust blocked sunlight from Earth.

○ Earth became cold and dark for several months.

○ New elements were formed in Earth's crust.

○ Large quantities of nitric acid were produced.

Paragraph 5: Several other mass extinctions in the geological record have been tentatively identified with large impacts, but none is so dramatic as the Cretaceous event. But even without such specific documentation, it is clear that impacts of this size do occur and that their results can be catastrophic. What is a catastrophe for one group of living things, however, may create opportunities for another group. Following each mass extinction, there is a sudden evolutionary burst as new species develop to fill the ecological niches opened by the event.

8. The phrase tentatively identified in the passage is closest in the meaning to 
○ Identified after careful study
○ Identified without certainty
○ Occasionally identified
○ Easily identified
Paragraph 6: Impacts by meteorites represent one mechanism that could cause global catastrophes and seriously influence the evolution of life all over the planet. According to some estimates, the majority of all extinctions of species may be due to such impacts. Such a perspective fundamentally changes our view of biological evolution. The standard criterion for the survival of a species is its success in competing with other species and adapting to slowly changing environments. Yet an equally important criterion is the ability of a species to survive random global ecological catastrophes due to impacts. 

9. The word perspective in the passage is closest in the meaning to 
○ Sense of values
○ Point of view
○ Calculation 
○ Complication 
明确定位

10. Paragraph 6 supports which of the following statements about the factors that are essential for the survival of a species?

○ The most important factor for the survival of a species is its ability to compete and adapt to gradual changes in its environment.

○ The ability of a species to compete and adapt to a gradually changing environment is not the only ability that is essential for survival.

○ Since most extinctions of species are due to major meteorite impacts, the ability to survive such impacts is the most important factor for the survival of a species.

○ The factors that are most important for the survival of a species vary significantly from one species to another.

Paragraph 7: Earth is a target in a cosmic shooting gallery, subject to random violent events that were unsuspected a few decades ago. In 1991 the United States Congress asked NASA to investigate the hazard posed today by large impacts on Earth. The group conducting the study concluded from a detailed analysis that impacts from meteorites can indeed be hazardous. Although there is always some risk that a large impact could occur, careful study shows that this risk is quite small.

11. Which of the sentences below best expresses the essential information in the highlighted sentence in the passage? Incorrect choices change the meaning in important ways or leave out essential information.

○ Until recently, nobody realized that Earth is exposed to unpredictable violent impacts from space.

○ In the last few decades, the risk of a random violent impact from space has increased.

○ Since most violent events on Earth occur randomly, nobody can predict when or where they will happen.

○ A few decades ago, Earth became the target of random violent events originating in outer space. 

明确定位

12. According to the passage, who conducted investigations about the current dangers posed by large meteorite impacts on Earth?

○ Paleontologists

○ Geologists

○ The United States Congress

○ NASA

Paragraph 6: Impacts by meteorites represent one mechanism that could cause global catastrophes and seriously influence the evolution of life all over the planet. █According to some estimates, the majority of all extinctions of species may be due to such impacts. █Such a perspective fundamentally changes our view of biological evolution. █The standard criterion for the survival of a species is its success in competing with other species and adapting to slowly changing environments. █Yet an equally important criterion is the ability of a species to survive random global ecological catastrophes due to impacts. 

13. Look at the four squares [█] that indicate where the following sentence can be added to the passage.

This is the criterion emphasized by Darwin's theory of evolution by natural selection. 

Where would the sentence best fit?
14. Directions: An introductory sentence for a brief summary of the passage is provided below. Complete the summary by selecting the THREE answer choices that express the most important ideas in the passage. Some sentences do not belong in the summary because they express ideas that are not presented in the passage or are minor ideas in the passage. This question is worth 2 points.
Scientists have linked the mass extinction at the end of the Cretaceous with a meteorite impact on Earth.
●2
●4
●6
Answer choices
1. Scientists had believed for centuries that meteorite activity influenced evolution on Earth.       For centuries，activity都不准确
2. An iridium-enriched sediment layer and a large impact crater in the Yucat provide evidence that a large meteorite struck Earth about 65 million years ago.
3. The site of the large meteorite impact at the end of the Cretaceous period was identified in 1990.明显细节，被选项2概述
4. Large meteorite impacts, such as one at the end of the Cretaceous period, can seriously affect climate, ecological niches, plants, and animals. 
5. There have also been large meteorite impacts on the surface of the Moon, leaving craters like Tycho.  MOON与地球无关
6. Meteorite impacts can be advantageous for some species, which thrive, and disastrous for other species, which become extinct.

讲义参考答案：

词汇：22314  41121  14221  31424

句子简化题（有逻辑）：34442  34141  32

句子简化题（无明显逻辑）：23421  4

事实信息题：42144  23212  2  (23)

否定事实信息题：13332  3121

推断题：43131  22313  323

指代题：23432  13342  211

修辞目的题：14234  33323  114 

插入题：44244  34444  23124  22333  34

总结题：（1）2 5 6 （2）1 2 6（3）1 2 3 （4）2 4 6

补充文章：Opportunists and Competitors: 43223  11424  3  (3469/258)

          Symbiotic Relations: 32241  33413   211  (135)

          Meteorite Impact And Dinosaur Extinction: 43321  33222  144  (246)
附录：
一、记笔记方法：平时练习记笔记过程：
1. 记笔记符号：
（1）文 章 主 题 句：ZT
（2） Topic Sentence：TSx                                                （x为段号）
（3）概 述 性 细 节：Dn                                     （n为段落中的细节序号）
（4）详 述 性 细 节：Dnm                                    （m为详述性细节序号）
（5）段 落 总 结 句：Con
（6）转折：‖; 
（7）比较:：><;
（8） 因果：→←; 
（9）条件：if; 
（10）分类：( ;  
（11）定义：“:”;  
（12）类比: ≈ 
（13）支持: ( 或 + ;
（14） 反对:( 或 -。
二、常见难解结构：
1. As many/As much: 同数量的
例句: He remembered 5 words in as many days.
2. A be as much + N +as (be)  A和B一样是N
He is as much a good father as (is) his father 他和他的爸爸一样是个好爸爸
3. …as…as…can be 极其
He is as handsome as handsome can be. 他极帅！
4. not so (adj.1/ N1) as (adj.2/N2) 与其说…不如说…等于adj.2 rather than adj.1
He is not so smart as wise. 与其说他聪明不如说他英明。
5. not so much as… 甚至都不能
He cannot so much as speak.
6. all the more for 反而更
XLG is all the more smart for his shabby clothing. 犀利哥因为他的衣衫褴褛而更帅了！
7. A is no more B than C is D A不是B正如C不是D
I can no more sing than he can dance. 我不能唱正如他不能跳舞
A whale is no more a fish than a horse is. 鲸不是鱼，正如马不是鱼一样
8. 7中more换成less，A是B正如C是D
9. NO MORE THAN仅仅 not more than不超过
It will take no more than ten minutes to review the knowledge above.
10. NO LESS THAN 多达 not less than 不少于
Death toll of this catastrophe has amount to no less than ten thousand.
11. much more= let alone 否定用much less=still less
She can speak English, much more/let alone write it.
She can’t speak English, much less/still less write it.
12. Better A than B 与其B不如A. 
Better late than never.
13 too…to…太而不能；only too…to…太…而…

You are too young to go to school. 
I’m only too happy to see you. only消除了too的否定，翻译为：我见到你太高兴了
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